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Question Id : 3421233828 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension

The following table embodies the details about the profits (in Rupees Lakhs) earned by five
Retail Stores A-E during the vears 2018-2023. Based on the data in the table, answer the
questions that follow.

Store-wise Details of Profit

Profit (in ¥ Lakh) earned in the year
2018201912020 2021 (20222023
12 | 18 | 24 | 21 | 15 | 30
9 15 | 18 | 12 | 21 | 24
33 ] 24 ] 21 | 30 ] 36

Store

HiD|o|w] e
()
|

Note: Profit = Income — Investment

Sub questions

Question Number : 1 Question Id : 3421233829 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The profit earned by Store A in 2023 is approximately % more than that in 2019.

1. 40

f-2

. 66.67

4, 33.33

Question Number : 2 Question Id : 3421233830 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 2/133
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Consider the percentage change in profit for the stores A, B, D and E for the pair of years {2018
and 2019}, {2018 and 2019}, {2018 and 2022} and {2018 and 2022}, respectively. Which store
has maximum percentage change in profits for the pair of years mentioned?

I.&

2.B

3.D

4. E

Question Number : 3 Question Id : 3421233831 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What should be the income of store D in 2020, so that its profit percent is 30%
1. 33 lakh
2.3 42 lakh
3. 260 lakh
4. T 78 lakh

Question Number : 4 Question Id : 3421233832 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the year 2019, to earn a profit of 20%, by each of the stores C and E, what is the ratio of
investments made by C to that of E?

I 7 13
2415
3.5 1
4.11:7

Question Number : 5 Question Id : 3421233833 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 3/133
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Owner of store C invests 2 9 lakh in 2021. What should be the investment of D in the same year
to get an income which is double than that of store C?

1. %51 lakh

(]

.2 6 lakh

3.3 50000

4.2 33 lakh

Question Id : 3421233828 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension

{5 d1feiep1 H Ui Gexl USRI A-E §RT2018-2023 & I8 GIRM 3Hfoid a1y (dRd T H) Faei
faraRuT fea TRy ¢ | 1Tl H Ued S1el & SR UR, M U 78 U4l & IR Sifelt -

WTH BT UHSR-9R fazur

g28.digialm.com/CAE/viewHtmIPDFAction.action

. gy o 3ffold a1y (z ag H)
HER
2018120192020 2021 120222023

A 12 18 24 21 15 30
B 9 15 18 12 21 24
C 27 33 24 21 30 36
D 15 12 18 9 21 9
E 18 21 15 15 12 24

feoqufl. drY = 3/ — =

Sub questions

Question Number : 1 Question Id : 3421233829 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

H3R A GRT2023 H 3AfSId d1H 2019 H 3fSld A1H T T THI

1. 40

2

. 66.67

3. 266

4. 3333

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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Question Number : 2 Question Id : 3421233830 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YSR A, B, D 3R E DI HHE: 99 TH {2018 3R 2019}, {2018 3R 2019}, {2018 3R 2022}
3R (2018 3R 2022}, H U T4 H Hfq=rd uf¥acH W =R Sifoe | fcafad gm-auf o
ford HeR & a4 | Siftidd Ul uRad g2

l.A

[

B
3.
4.E

Question Number : 3 Question Id : 3421233831 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gy 2020 H HSR D &I 319 fdhd-l BI- I1ieU didh! I9DHT drH Ufd2rd 30% Bl?

1.233 ¢l

f-2

.242¢lld
3.260 ¢l

4.278 dld

Question Number : 4 Question Id : 3421233832 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gy 2019 H H3R € 3R E AP Bl 20% 1Y 3Hfold B3 & [olU ¢ gRT fdHT T (9= BT E gRI
foh T 1T f99=1 & Ty T 3T fhd-1 g2

S

k2
[
n

Question Number : 5 Question Id : 3421233833 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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HER ¢ & WIHI H 2021 H z 9 AR 1 Ha2 fhar| Y8R p H 34t gy foa1 a2l fooan ST
1T dIfh IYD! 3 SR ¢ P g1 & QT3

1.251 clld

I

.26 ¢l

3.% 50000

4.233dd

Sub-Section Number : 2
Sub-Section Id : 342123156
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 3421233834 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI
(Kinds of classroom I—IS:I I_I
Resources) (Description)

Resources which are not easily bought, measured or adjusted, e.g.

5 | Bample Bestasoss L instructional approaches and teaching philosophies.

B Compound 1 Resources difficult to discern and measure and often embedded via web
" |Resources " | of relationship and practices, decision making, teacher accountability etc.

Physical object and can be directly bought, adjusted and measured e.g.

il e e textbooks, blackboards and chalks etc.

Use of two or more than two resources such as class, size reduction and

D. |Abstract Resources | IV. G

Choose the correct answer from the options given below:

1. A-1, B-II, C-III, D-IV
2. A-IV, B-III, C-1I, D-1I
3. A-IV, B-III, C-1, D-II

4. A-II1, B-1V, C-1I, D-1

Question Number : 6 Question Id : 3421233834 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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AT 1S 1Y &I 11 DT e Hifoy

1
HE Eﬂﬁﬂi _‘E‘EI
TFR

: T T forg Smrart 9 @iiar T8l o Yoar, H10H 91 HRId el [
A | SIS | 3 S 9@ di | areony fRrar gt efpeiun 3R fEeor e

; U 91eH a1 UggH SR A3107 S B164 8idl & 3R U: $% 9|y
B WTHEET | I | o o Fivfer o, e Gt 1fS B o & WHed R STl 21

e a¥g SR Uee ¥ T @ o Uabddl g, Yo & o 9l &
c |Sfeadurem |1 | 3R gu@ amH fogn o Uad g1 Sareiond ursd Uiid, sideale. did
ST

D. |erdwam | v %ﬁfrﬁ&mw@aﬁﬁwﬁwﬁﬁmwﬁﬁﬁﬁﬁ

i fqu U fah el § 9 T8T STk DI I DIfIT;
1. AL B-II, C-IIL, D-IV
2. A-IV, B-IIL, C-IL, D-I
3. A-IV, B-III, C-I, D-II

4. A-IIT, B-IV, C-II, D-I

Question Number : 7 Question Id : 3421233835 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What cannot be held as the correct motive of Question-Answer technique in Teaching?

1. To test the knowledge

t2

. To locate the difficulty

3. To intimidate and hamper self-confidence

i

. To promote thinking and originality

Question Number : 7 Question Id : 3421233835 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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R80T H UY-3dR dhid & Ul 3530 & U H [HUiaRad f&d gl foran 51 Uddi g2
T T & AT

. DI&TS B Udl T

3. YT HAT 3R TH-TTYI | 9141 STefAT
4. Tl 31R Hiferehdl &1 Ferar &l

—

f-2

Question Number : 8 Question Id : 3421233836 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Acronvm *SWAYAM’ represents -

1. Scopus Web of Attentive learning for Youth and Apt Minds

t2

. Social Web of Agent learning for Youth and Adult Minds

L

. Study Webs of Active learning for Young Aspiring Minds

i

. Science Web of Aspirants and Young Active Minds

Question Number : 8 Question Id : 3421233836 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Gl -swavam [FgfeRad &1 uiaifd drdigl

1. ThIUY 94 3% 3{cfed Al R gy Us T ArEsd
 I2Ie A9 1% TSI AT BR 3y US Used gy
3. W31 deY 3 Ulded -1 BR 7 TUISR A5 gy
WIS 39 3% THURREY TS 47 Ufded HIggy

2

e

Question Number : 9 Question Id : 3421233837 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following can be considered as the component of development of ability of critical
and logical thinking?

A. To identify the problems

B. To analyse the problems

C. To establish subjective truths

D. To select relevant facts and principles
E. To draw inferences and conclusions

Choose the correct answer from the options given below:
1. Aand C only
2. A.Band C only
3. A.Band D only

4. A, B,Dand E only

Question Number : 9 Question Id : 3421233837 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fFafaRad oY THEaRAES 3R b fdd &t aradl & f[9H™ &1 9 AT Sl
Hhdl g7

A. THI I UgaH Bl
B. GHA13 &1 G0 HRAT
C. HTHAMEY =3l &l RTUT HATl
D. WTd 9l 3R Rigidl &1 994 &A1
E. 3AM 3R (56 fHdbreT
A feu T fawedl § 9 o IR B 99 DIIT;
. Had A AR C
2. HAAdA. B3R C
3. Hdd A, B3R D

4. Hdd A, B.D 3R E

Question Number : 10 Question Id : 3421233838 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

g28.digialm.com/CAE/viewHtmIPDFAction.action

(\Ii-‘EI‘SL]:E'pi'I‘ ls Tvpe S5
= 282 1Yp (Indicator)
Learner
A | Judging learners I | Depend on outside simulation and interaction for engaging in learning
) They choose to decide things impersonally based on analysis, self

B. |Exmovert learners I | 2 . -
discipline, logic, prefer clear course and outcotnes

o | sing I f:uncemed with l;nujﬁ'mg the essentials and take actions quickly,
intolerant to ambiguity

0. | The thinkers v Seek out patterns and relationships among the facts they gather inferences,
guesses from context

Choose the correct answer from the options given below:

1. A-II, B-III, C-1, D-IV
2. A-1IV, B-1, C-1II, D-II
3. A-III, B-1, C-1V, D-I1

4. A-I, B-II, C-IIL, D-1IV

Question Number : 10 Question Id : 3421233838 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action

10/133



8/23/24, 6:26 PM

AT 1S 1Y &I 11 DT e Hifoy

g28.digialm.com/CAE/viewHtmIPDFAction.action

b & 11
ﬁ&nﬁa;ﬁmﬁ-m =
n ﬁ%ﬁv‘mm : ?wﬁﬂw@ﬁ%ﬁnmﬁﬁﬁw@%mﬁmw
' i
I/ =, 3 . T & YR W 3EUGdd T d
B. |afede famdlf | 1 |o%gsil & Ydu H Foig o &1 g1 Tl Ty uredshd SR gRomE! @l
UYASdIGd 8|
ETAH al B A+ § Gefed 8id & 3R 39 $RaE & &,
C. EdEﬁlfl IIT. &mﬁﬂﬁﬂﬁﬁ‘ﬁ%l
D. |Fid® V. |l o TeHT ofR dael & aer=l &d 5. d HeH ¥ ofHH UhA $d g
1 fu 7T fadedi O 9 W8t SR &1 99 DIl

|

B

. A-II, B-III, C-1, D-IV
. A-IV, B-1, C-III. D-II
. A-IIL B-1, C-IV, D-II

. A-I, B-11, C-III, D-IV

Question Number : 11 Question Id : 3421233839 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Qualitative research is generally associated with-

1

b

. Inductive approach

. Deductive approach

. Positivism

. Objectivism

Question Number : 11 Question Id : 3421233839 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action

11/133



8/23/24, 6:26 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

O 2Ny FrT-gadl 9 o 9 g ¥ "difdd giar g2

1. 3HATHS SUNTH
T THATES 3UNTH

3. Udediq
4. faugfagarg

[~

Question Number : 12 Question Id : 3421233840 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Qualitative content analysis of documents relating to different time periods corresponds to which
of the following research designs?

1. Cross-sectional
2. Longitudinal
3. Case study

4. Comparative

Question Number : 12 Question Id : 3421233840 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o1 fird prarafel ¥ Yefdd yeiRdl &1 umdEd Siddatd [adwu g9 H 9 SiF 9 2y
HYPHed & =Y g2

1. UfafHerda®
e

- HHU] HHYA

I

d

4. dddIHD

Question Number : 13 Question Id : 3421233841 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the datasets with following pairs of mean (E] and standard deviation (o) in increasing
order of their coefficient of variation:

A x=2>o=9
B.x=40,0=12
C.x=30,c=10
D.x=35,0=I11

-

Choose the correct answer from the options given below:

L4 B E.D

t-2

B, C, DA
3ACDB

4.B,D,C, A

Question Number : 13 Question Id : 3421233841 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

slel Jel & Hied () d HFSD fade (o) dTel [F% gl &1 3 TR0 Uil & ded $H H
IR BT

1.A.B.C.D

[

-0 e s 0

3.A,C, D, B

4=

B DUCA

Question Number : 14 Question Id : 3421233842 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 13/133
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According to UGC Regulations 2018 on Plagiarism, a student will have to submit a revised thesis
for which of the following similarities of thesis?

A 12%
B.27%
C. 46%
D. 66%
E. 70%

Choose the correct answer from the options given below:

l.A.Band C only
2. B, C and D only
3.C.Dand E only

4. A and B only

Question Number : 14 Question Id : 3421233842 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Yifgfde® IRt & Tae o goiil faf s 2018 & AR fqendi &1 s 2y gdy B g o g
fah -l T3 & HROT GRS Qe Ueef TR DA S

12%
27%
46%
. 66%
- 70%
4 fGU U fasedl # U ggT 3R &1 994 I
. had A. B3R C
2. BAdA B, C 3R D
3. HAd C.D 3R E

4. Phdd A 3R B

HOnNm e

Question Number : 15 Question Id : 3421233843 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
(Tspe of Variables) (Example)
A | Nominal I. | Anger level
B. | Ordinal II. | Crop vield
C. |Interval III. | Type of forest
D. |Ratio IV. | Temperature in Fahrenheit

Choose the correct answer from the options given below:

1. A-I, B-II, C-IV, D-III

I

.A-I, B-IL, C-III, D-1IV
3. A-III, B-1, C-1V, D-I1
4. A-IIT1, B-1V, C-1, D-II

Question Number : 15 Question Id : 3421233843 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT 1S 1Y &I 11 DT e Hifsy
1 T I

W I UBR ISTEI
ElIEG L |wydH TR

HHYAD II. | He] 30
R EIGIE] 1L |99 UhR

urd IV. | BREgIEE H diyHH

A fGu U 9 edl § U Iot IR BT I999 BIIT;

1. A-I, B-II, C-IV, D-III

ola|w|r

(B

.A-L B-II, C-1IL, D-IV

3. A-III, B-1, C-1V, D-I1

4

- A-IIL B-IV, C-1, D-II

Question Number : 16 Question Id : 3421233844 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 15/133
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Which one of the following ancient sites in India is known for oldest forms of human
communication?

1. Dholavira
2. Bhimbetka
3. Ropar

4. Sinauli

Question Number : 16 Question Id : 3421233844 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

URd & [Hafafad urie wdl d {Ha6! 4Hd YR &1 GRIGH U HHT S1dl 62
B ISIEIR

RYEERGA
3,398
4. T

[

Question Number : 17 Question Id : 3421233845 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Without whom the communication process cannot be completed?

l. Receiver

t-2

. Media

3. Writer

s

. Expert

Question Number : 17 Question Id : 3421233845 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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fehdh o1 Fuwor gui 91 81 Yol g2
1. Ultddhd I

AT
3. G dH

4. f[agmg

f-2

Question Number : 18 Question Id : 3421233846 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following four stages of communication in a proper sequence:

A. Transmission
B. Encoding

C. Sender

D. Feedback

Choose the correct answer from the options given below:

1. C.BA D

t2

.B,AC.D
3D, C,B; A

4.A,B,C,D

Question Number : 18 Question Id : 3421233846 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AR & IR RO &1 3fEd SHA G -

A. TR
B. HedhUl
C. UN&h
D. Ufdg®
< fSu U fadeul § 4 @87 IR BT 90 DIOIT:

1. C.BA D

2. B4 C D
32D, C,B; A
4 A B.C,D

Question Number : 19 Question Id : 3421233847 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are the correct definitions of communication?

A. Process of ideating, searching and telling.
B. Process of sending, receiving, and interpreting the message.
C. Communication is social interaction through messages.
D. Process of thinking. writing, and channelising the messages.
Choose the correct answer from the options given below:
1. Aand B only
2. Aand C only
3. B and D only

4. B and C only

Question Number : 19 Question Id : 3421233847 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fFrafafad ® 9 SH-3 TOR & gl TR g2

A. TaIR-GoH SR, TR B 3R ddH DI Uidhan

B. Y1l &1 WoH, U 3 2R UHH D1 ufcha

C. TR, Yol & Hiegd § griTold Idarg ¢

D. Y &1 TraH, forg- 3R 99a O HoH & Ufdear
A fGu U A edl § O 8T 3R &1 904 DifoiL:

|. HddA3RB

2. HIA AR C

3. Hdd B 3R D

4. HAA B 3R C

Question Number : 20 Question Id : 3421233848 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LISTII
(Communication Term) (Examples)
A | Formal communication I | Religious discourses
B. |Informal communication II. | Questioning oneself after doing a mistake
C. | Group Communication III. | Taking part in meeting
D. |Intra-personal commumication | IV. | Conservation in canteen

Choose the cerrect answer from the options given below:

1. A-I, B-II, C-III, D-IV
2. A-IL. B-IIL, C-I, D-IV
3. A-IIIL B-IV, C-1, D-II

4. A-IV, B-1, C-II, D-III
Question Number : 20 Question Id : 3421233848 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 19/133



8/23/24, 6:26 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

AT 1S 1Y &I 11 DT e Hifoy

A1 T I
U0 Ug ITEN

Hoa@ §or | 1 |ufi® uaed

HATEING TR | 1L | @5 TTed) &3 & 916 @d 9 09 05T
TG YR | 1L |§5® § YFT T

Jg-aufdde dar | Iv. | H 9rddid

Ard U U f[dahedl § 4 To1 SR BT 999 DIl

1. A-I, B-IL, C-III, D-IV

olo|w|»

2

. A-II, B-1II, C-1, D-IV
3. A-III, B-1V, C-1, D-II

4. A-IV, B-1, C-II. D-III
Question Number : 21 Question Id : 3421233849 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

A shopkeeper first increased the price of an item by 12% and then announces a discount of 20%.
The actual discount on the original price is:

1. 12.6%

[Q
PN
=
N
G
b

Question Number : 21 Question Id : 3421233849 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Uh GhHGR - Ugd fhdl 9% Bl HIAd T 12% B gl B &l 3R IUD 916 20% Be o | Jad
@1 IR IRdfdD B ¢:

1. 12.6%

I

. 10.4%
3. 14.2%
4. 12%

Question Number : 22 Question Id : 3421233850 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A 200 m long train is travelling at a constant speed of 20 m/s. How long will it take to completely
cross a 1000 m long railway platform?

l. 1 minute

2

. 1.5 minute

. 2 minutes

[V

4. 2.5 minutes

Question Number : 22 Question Id : 3421233850 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Udh 200 Hiex Tl ST 20 Hie/Uld Ydhs DI U HHII U &lS gl g1 Ub 1000 HieR
dd Ydd e & I kg IR B J 34 fdha=1 99 T

1.1 fe
15 e
fire
4.2.5 e

I

W
(]

Question Number : 23 Question Id : 3421233851 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following fractions in decreasing order?

A —

13
16

14
17

D.

Choose the cerrect answer from the options given below:

1.D,C,B,;A

]

A B.C,D
3 C.D.B,A

4.D,C,A,B

Question Number : 23 Question Id : 3421233851 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fAafaiad fiel @ ged &F | afeud o3|

17
A —
21

15
19

B —

i feu U fadetl & 9 F81 IR DI T BT
1.D,C,B, A
2.A,B,C,D
3.C,D,B,A

4.D.C,A.B

Question Number : 24 Question Id : 3421233852 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the numbers that occur in the series 0, 7, 26,63, 124 .........oooiiiiiina...

. 344
=i |
215

. 730

ODnwpe

Choose the correct answer from the options given below:

1. Aand B only
2. B and C only
3. Cand D only

4. A and D only

Question Number : 24 Question Id : 3421233852 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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SRACT 0. 7. 26, 63. 124 ..o T 3 dTdl 3idh! DI Ygd di |

onw

1 fQu Y fae et § 9 #8713 o1 994 DI
1. Hdel A 3R B
2. HddAB 3R C
3. %dd C 3R D
4. Had A RD

Question Number : 25 Question Id : 3421233853 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI LISTII
(Word) (Unigue Code)
A |PRIME [ |NPGKC
B. |SIGHT II. |QGEFR
C. |QUITE ITI. |OSGRC
D. |EHYME IV. |PFWKC

Choose the correct answer from the options given below:
1. A-I. B-II, C-1II, D-IV
2. A-IL B-IIL C-IV, D-I
3. A-IIL, B-IV, C-1, D-II

4. A-IV, B-1. CII-, D-IIT

Question Number : 25 Question Id : 3421233853 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy
A1 T 10
T

sfgda oe
A |PRIME I. |NPGKC
B. |SIGHT II. |QGEFR
C. |QUITE III. |OSGRC
D. |RHYME IV. |PEWEC

AT fau U fadedl # U Igt 3O &1 99 DIfoIu:

1. A-L, B-IL, C-III, D-IV

b2

. A-II, B-III, C-IV, D-1

3. A-IIL, B-IV, C-1. D-II

=

. A-1IV, B-1, CII-, D-III

Question Number : 26 Question Id : 3421233854 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is NOT a fallacy of Relevance?

l. Ad Hominem (Personal Attack)

2. Attacking the Motive

L8]

. Tu Quoque (Look who's talking)

4. False Alternatives

Question Number : 26 Question Id : 3421233854 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

afiRad | ®F 91 U RISl &1 dbaly Jal g2
1. AfaaTa 3a™

2. 350 WM UGR
3. ¢l DI d1d B gl g
4. 7dd f[adeq
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Question Number : 27 Question Id : 3421233855 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What can be inferred correctly from the following?
“Science Is based on experiment, on a willingness to challenge old dogma. on an openness to see

the universe as it really is. Accordingly, science sometimes requires courage at the very least the
courage to question the conventional wisdom.”

A. Premise: Science sometimes requires courage.
B. Premise: Science is based on experiment, as a willingness to see the universe as it really is.

C. It is merely an Illustration.
D. Conclusion: Science sometimes requires courage.
E. Conclusion: Science is based on experiment, on a willingness to see the universe as it really
is.
Choose the correct answer from the options given below:
1. A, Cand D only
2. Aand D only
3. B and D only

4. B, C and E only

Question Number : 27 Question Id : 3421233855 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frafifad @ ®H-&19 98 ¥ ¥ 3udiéd fhu &1 96hd g2

IR Tl Bl I & Bl IHD AT, T VS &I o U 4 < g [ 1 IRad H DI
3 &Id g, 98 (o0 fai vl 4R 31eriRd gidi g | dgd8R 34 foid dull-dl fag 9
F6 I JfSHT UR U - Bl SUel &l Siidl g~

A. YR dTa: HHI-HHI {1 BT A8 BT ATTGD T il g |

B. %nmu%aﬁq SIRIUS &1 dRdldddl &l Udl TR &1 Sl gd a1 Tl UR SR
|

C. g 9 U [ F=yu g |

D. (5 : fa5iH &l Hul- Sl 98y &1 eIl gidi 3|

E. [0 : S90S &l dRdidd &0 § ¢8- &1 Sddbdl o (93 W IR S1Y1Rd gl gl

-4 feu U fadedl # 9 @1 SR &1 99 DT
1.%dd A, C 3R D
2. Hdd AR D
3. Hdd B 3R D
4. HdAB, C IRE

Question Number : 28 Question Id : 3421233856 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Observe the following argument and find the correct form:
"A' has characteristics of *X’ and 'Y".

‘B’ has characteristics of ‘X" and 'Y".

*A’ has a characteristics of *Z’.

Therefore ‘B’ has a characteristics of 'Z'.

Choose the correct answer from the options given below:

1. Statistical Argument

f-2

. An argument from Authority
3. Mathematical Argument

4. Argument from Analogy

Question Number : 28 Question Id : 3421233856 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FafaRad gidd BT s/adid HIfCT 3R g1 HRAY JTd HIfST -
AH X AR Y & A gl

B H X 3Ry & AU g

‘A H 7 BT AU G|

O B H *Z BT A&

A fGu U A cdl § 9§ T 3R &1 944 DifeiL:

1. Gl gfdd
2. UMYl &1 gfdd
3. TIford T gfad

4. Gre=ydl ®f giad

Question Number : 29 Question Id : 3421233857 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

I1IST1 LISTII
(Fallacy) {(Description)

When an arguer tries to side track his audience by raising an irrelevant

A | Strawman I 15 i e, : 2 £
issue and the claims that the original issue 1s settled.

; When an arguer states or assumes as a premise the very thing he/she is

B. |Red Herring 1L : 5 : P : e
trving to prove as a conclusion.

C. |Equivocation III. | When arguer distorts an opponents claim to make it easier to attack

Begging the 5 : : :
D. Quhe;tiozl IV. | When a key word 1s used in two or more senses in the same argument.

Choose the correct answer from the options given below:
1. A-IV. B-1, C-III, D-II
2. AL B-IIL, C-IV, D-I
3. AL, B-II, C-IV, D-III

4. A-II, B-1, C-IV, D-II

Question Number : 29 Question Id : 3421233857 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

I I
agﬁaﬁu faawor
1 @1 qaal 9 ®is giadmdl AU Yid] BT SUHES Tt U g & Ua8 &idl o
* | ) L | oiR crar o e o g R, o1 g o fear T )
p [HAPEFIRS | |96 ol et &1 &4 H g 31 d18d1 § 94 HYR 91 &
- |&Rm | =0T g8 SU@T SwE Bl § 91 QA SRa g
& lsasirs i mewmﬁmﬁwﬁmﬁﬁm
p. |eremaa v gﬁ@gﬁﬁmwﬁ%%ﬁﬁ@mﬁmmm

AT fau U fadedl # U Igt 3O &1 99 DIfoIu:

1. A-IV, B-1, C-III, D-II

b2

3. A-L, B-II, C-IV, D-III

4. A-1I1, B-1, C-1IV, D-II

. A-II, B-III, C-IV, D-1

Question Number : 30 Question Id : 3421233858 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the light of Nyaya's Syllogism, which of the following are correct?

A. 'Sadhya' is the major term
B. ‘Linga’ is the minor term

C. 'Hetu is the middle term

D. ‘Paksa’ is the minor term

E. “Anumana’ is the inferential knowledge

Choose the correct answer from the options given below:

l.A. B and C only

B

3. B and D only

4. B, D, and E only

. A, C.D and E only

Question Number : 30 Question Id : 3421233858 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

1Y 9I & ATcdld H FafdaRad d oiH-$H 9l g2
A T fAdg UG g
B. el 5@ US
C.BIHH UG T
D. U8 JERA UG ©
E. <3HHM HHHHS I ¢
A fou U fasedl § 9 ¥8T 3R &1 994 DI
. $dd A, B3R C
2. ®hdd A, C, D 3R E
3. Hdd B 3R D

4. Hdd B, D 3R E

Question Number : 31 Question Id : 3421233859 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In MS-EXCEL, a formula =BS$1 + CS3 + 5 in cell D9 when copied to cell F12 will become:
Choose the correct answer from the options given below:

=Pl +E3=5
2.=B82+C84+5
3. =C51 + D3 F3

4. =D +ES3+5

Question Number : 31 Question Id : 3421233859 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TAUY-URA H, BIF Do H YA =BS1 + C$3 + 5 DIY F12 H DI [T 1 R g A |14
ST
A fGu U famedl § 9 ¥8T 3R 1 994 DIoIU:

L= =S

b2

.=B$2+C84+5

(ad

Rt B o B e B R

4.=D31 +ES3+5

Question Number : 32 Question Id : 3421233860 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A webpage displays the following information. in which underlined word is a link to another
webpage.

For digital devices, the bandwidth 1s usually expressed in bits per second (bps). For analog devices, the
bandwidth 1s expressed in Hertz (Hz)

Which method of data organisation is being used?

1. HTML
2. Hypertext
3. Storyboard

4. Data Scheme

Question Number : 32 Question Id : 3421233860 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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U da0s IR 9 Y1 UeiRid g foad Raifed s U 3= daus ol fiid § -

fEslied 13 Bq. Ssfagy & YA 928 Ufd 497S (bps) H S0a0 631 &A1 & | TAIGH 431 84,
dSEsy @i 5 (Hz) H oo frar ST 81

gl S1eT HiTe o T fafer o1 ugi fohar o g1 62
L.
2. BIRURCHRT
3. ERIES
4. ST WA

Question Number : 33 Question Id : 3421233861 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct logical sequence of the following four randomly-ordered sentences A - D
about the discovery of Computer Mouse?

A. We use the mouse today because it is the pointing device that is easiest to use compared to
others such as joysticks, trackballs etc.

B. Doug Engelbart was bored at a conference and started thinking about tracking movement of
a plane using two sets of wheels moving in orthogonal directions.

C. Doug Engelbart remembered these notes when he was trving to come up with a device to
select objects on a computer screen.

D. Doug Engelbart tells the story of how he invented the mouse.

Choose the cerrect answer from the options given below:

1.D,C,B,A
2.4, B.C1D
3.B,C.,D.A

4. D, B.C A

Question Number : 33 Question Id : 3421233861 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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HIR AI3Y &l Wil & Yoy H grefadd U U HdRYd 4 IR 9101 A- D S Hgl diihd
3P H DI UgdH DI

A. BH TS HI3Y &l YA did g Hifh 98 SH1d B dTdl 98 3UHI § Sl A,
cahdld, e S 3= 43f &I Ja=1 T SugT S T gaiidsd g |

B. 31371 Wiedld Udh YHIeH H 981 39 Y8l AT 3R 38 ufgdl & <l el &l dadiuliy ez
H Fdld §U U Wi & I Sl @ioRgaR o & dR T 4T $IRY b

C. Sid 1371 Udledd her whiH UR d¥d 31l & 999 gd U7 d-1H Dl DITRI=I S Q1 U1, dl
34 g fewfoml o1 w07 gai|

D. SI37 Wiede o a8 HUI AR b 3G HI3H B TR HY b

A fSUu U fasedl § 9 FgT 3R 1 994 DHIfoIu:

1.D,C,B,A

2A,B.C.D
3.-B.C, DA

4.D,B,C. A

Question Number : 34 Question Id : 3421233862 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If (L) represents a number L in base -M number system, then which of the following equalities

are true?

A. (512.125);0 = (1000000000.001),
B. (512.125);0=(1000.1)g

G532 125)565 ={200:2)i4

D. (512.125);9 = (2000.02),

Choose the correct answer from the options given below:

1. A and B only

f-2

. A and C only
3. B, C and D only

4. A. B and C only

Question Number : 34 Question Id : 3421233862 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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S (L), 5 M 3 YUTTell  3idh L Bl UaiRid Hdl ¢, dl (9 1 Y & Ul GHHE Ul g2

10 = (1000000000.001),
10 = (1000.1)g

10 = (200.2)1¢

10 = (2000.02)4

[ e R —— I =
[
h

T .

g28.digialm.com/CAE/viewHtmIPDFAction.action

- U T faaedl # ¥ @7 IR 31 907 DI
1. &dd A 3R B
2. Had AR C
3. $HddB. C 3R D
4. BdAA, B3R C

Question Number : 35 Question Id : 3421233863 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LISTII
(ICT Term) (Description)
A | Authentication | [ | Identifies which device 1s connected at a given IP address
B. |Biometrics II. | Relies on certain unique characteristics of human beings such as retina scans
c | 1P Address 1L N erifies that data comes ﬁ’om a secure .a.nd trusted source and works with
encryption to strengthen internet security
D. |MAC Address | IV, |Identifies where on the network a device 1s located.

Choose the correct answer from the options given below:

1. A-I, B-II, C-IV, D-III

(B

-A-IIL B-11, C-1IV, D-1

3. A-IL, B-IIL C-I, D-IV

4. A-IV, B-111, C-II, D-1

Question Number : 35 Question Id : 3421233863 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

I g I
(afrggré’rua (Ferom)
A |ymoE L |ved 3 G sy R Je 49 & UgaH Sl g
B. |SiafidE 1L |Hsaf it e Tb oY sfagy fafy sifteam i R S gl

. UE FITUd Bl & fob ST21 U RIG 9 fae-1g &id ¥ 31 781 § 3R
C.[sRdiTgy | I ST YRA&T i TG B o DIV b HIY HIH Bidl g |

D. [THUWUSY | IV. |8 UgdH &l ¢ [ Hedd UR U7 Pel SHaleyd g

A fau U faded] # U It 3R D1 994 DIfoIs:

1. A-I, B-II, C-IV, D-III

2. AIL B-II, C-IV, DI
3. A-II, B-TII, C-1, D-IV

4. A-IV, B-III, C-II, D-1

Question Number : 36 Question Id : 3421233864 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Indigenous Knowledge and Resource Management System is at best can be considered as-

1. Mitigation Response

f-2

. Adaptation Response

3. Decarbonization Response

=

. Ethical Response

Question Number : 36 Question Id : 3421233864 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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RIS [ T THTeH Yele YUTTel Sl Faiad =0 § 9 1 9 o1 T S ool 82
. 3TH 0T (b

ERCEEESER)

a1 srfoman

4. qfd® b

—

f-2

L8]

Question Number : 37 Question Id : 3421233865 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Cloudless night with low wind speed indicates:

1. Turbulent Atmosphere

t2

. Unstable Atmosphere

L

. Neutral Atmosphere

4. Stable Atmosphere

Question Number : 37 Question Id : 3421233865 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

99 argaT & Ty HERigd A 9 O 9 1 Hdod Bl 82
L. T TS
2. RRR qIgHSd
3. (RO agHed
4. R IrgHsa

Question Number : 38 Question Id : 3421233866 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action

36/133



8/23/24, 6:26 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

Arrange the following Indian States in descending order according to their climate vulnerability
(Starting from most vulnerable to least vulnerable)

A. Uttar Pradesh
B. Jharkhand

C. Maharashtra
D. Manipur

E. Punjab

Choose the correct answer from the options given below:

1.D. B, C AE

b2

AGEGA DB
3.B;A;D.E, C

48, E.BC.0D

Question Number : 38 Question Id : 3421233866 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

{79 RG] DI, 7] STcdarg U &1 €fF Y Haiitd ¥ GAdq & farig] vH |
AR HIfoTL:

A. TR USY
B. JIRQUS

C. HERTE
D. AR
E. Golrd
A feu T fawedl § 9 o IR B 99 DIIT;

1.B. B, C A E

[

AGEGA DB
3.B; A, D.E,C

4. A,E,B,C,D

Question Number : 39 Question Id : 3421233867 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which among the followings are the renewable energy resources?

A. Biodiesel

B. Nuclear Energy

C. Solar Energy
D. Hydroelectric Energy

E. Wind Energy

Choose the correct answer from the options given below:

1. A, B, C.Donly

2.B.C.D.E only

3.C.,D.E.Aonly

4.E, A, B only

Question Number : 39 Question Id : 3421233867 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

9 H U ® - IF AdiHruiig 3ol & d91eH g2
A. 911 SioTd
B. AMYBH T ol
C. R Sl
D. UH fdoTell 3ol
E. d1g $oll

4 fau U fasedl § 9 ¥8T 3R &1 994 DI
1.Hdd A, B, C 3R D

. $ddB.C,D 3R E

3. $HddC, D, E 3R A

4. HIAE,AINB

B

Question Number : 40 Question Id : 3421233868 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

Choose the correct answer from the options given below:

1

(]

Question Number : 40 Question Id : 3421233868 Question Type : MCQ Option Shuffling : No

g28.digialm.com/CAE/viewHtmIPDFAction.action

LISTI LISTII
(Sustainable Development Goals - SDG)|  (Goal Number)
A | Zero Hunger I |SDG-13
B. |Suvstainable Cities and Communities | II. | SDG-7
C. | Affordable and clean Energy III. | SDG-2
D | Climate Action IV, | SDG-11

. A-II1L, B-1V, C-II, D-1

. A-L, B-11, C-IV, D-III

. A-IIL, B-1II, C-1, D-IV

. A-IV, B-1, C-III, D-II

Correct Marks : 2 Wrong Marks : 0

A 1 & 1Y &I 11 D1 e Hifsiu

A | T e I |TgStei-13
B. |HURUg T dYqe™| 1. | TH St wil-7
C |TefaawE=Fal | Il |Tgdieia
D. |Scar] dRiare! IV. | g St efl-11

A U U 9 edl § 4 I8t 3R 31 I999 BITIT;

1

(B

Question Number : 41 Question Id : 3421233869 Question Type : MCQ Option Shuffling : No

CA-IITL B-IV, C-I1, D-I

- A-I B-1I, C-IV, D-III

. A-IL, B-IIL C-I, D-IV

. A-IV, B-1, C-III, D-II

Correct Marks : 2 Wrong Marks : 0
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In ancient India, Ujjain was famous for the study of:
1. Anthropology
2. Astronomy
3. Archaeology
4. Geology

Question Number : 41 Question Id : 3421233869 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

UTeF YRA § Iwid [ 399 g URTS 412
BCACEIC]
2. TN faiH

3. IRTdd fa3

4. Y fagm

Question Number : 42 Question Id : 3421233870 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Sanskrit Commission (1956-57) was headed by-

1. Sukumar Sen
2. UN. Dhebar
3. Suniti Kumar Chatterji

4. V.T. Krishnamachari

Question Number : 42 Question Id : 3421233870 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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U 3N (1956-57) D1 eIl fbgH DI i
. gHUR U
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- GHId AR Tl

4. d1. 8. POMMRER

—

L8]

Question Number : 43 Question Id : 3421233871 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following agencies launched the “International Environmental Education
Programme™?

1. UNESCO
2. UNEP
3. IUCN

4. GEF

Question Number : 43 Question Id : 3421233871 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Fafafad 9 o1 9 eoldl Ry yaiaruiiy fRign sraiea- o1 SRy faar
L TPl
2. g

ST

4.5 UH

P8

Question Number : 44 Question Id : 3421233872 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following institutions according to their vear of establishment (from earliest to the
most recent)

A. National Council of Rural Institutes (NCRI)

. Indian Council of Social Science Research (ICSSR)
. Indian Institute of Advanced Study (ITAS)

. Indian Council of Historical Research (ICHR)

. Indian Council of Philosophical Research (ICPR)

mOnNnw

Choose the correct answer from the options given below:

LA BC I E

b2

CD,BEA
3. B.EAC.D

4.C.B.D.EA

Question Number : 44 Question Id : 3421233872 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafeRad SRl &1 Ib] RIGA a8 & IR AdRYd DIT (HRY Y 00 & HH 1) |

A. TSTT ITHIOT ST TREE (T 9 3R 311%)

B. YR IS [G3H S8 GRS (378 4l T U 3R)
C. YR 3I7d AT TR (3115 318 T TH(

D. YRd VeI S84 gRye (3173 Tl UF 3R)

E. YR GIRIFS M gRyg (37s I Ui 3(R)

A feu U fashedl § 9 ol IR B 99 HIIT:

1. A,B,C,D,E

I~

DB EA
3.B,E.A,C,D

4. C. B, D, E A

Question Number : 45 Question Id : 3421233873 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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According to NEP-2020. which is/are not under curriculum framework of adult education?
A. Critical Life Skills
B. Vocational Skills Development
C. Continuing Education
D. Art in Education
E. Basic Education
Choose the correct answer from the options given below:
1. A only
2. B and C only
3.D only

4. A. D and E only

Question Number : 45 Question Id : 3421233873 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

BT R <fifd-2020 & SFUR TG e UrsT=at S & i Fgfiad § € BiF g1

A. Tgdqyf Siia- HIrd

B. G4 I [dH1Y
C. ard f2rem

D. f1en @ &

E. gfarct faren
A fau U fasedl § 9 ¥8T 3R &1 994 Do
1. Had A

2. HIAdB 3R C
3. %HadD
4. Hdd A, D 3R E

Sub-Section Number : 3
Sub-Section Id : 342123157
Question Shuffling Allowed : No

Question Id : 3421233874 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 43/133



8/23/24, 6:26 PM g28.digialm.com/CAE/viewHtmIPDFAction.action
Question Numbers : (46 to 50)
Question Label : Comprehension

Read the following passage and answer the questions that follow:

Stone carvings are other impressive pieces of visual art of Gujarat. The State is also a repository
of numerous places of historical importance, which attract thousands of people from all over the
world. The city Junagadh is adorned with beautiful shrines of Hindus. Jains and Muslims. In
Junagarh caves, a huge boulder preserves to this day the fourteen rock edicts inscribed by
Emperor Ashoka in the 3rd century BCE. Besides. one can also see here classic examples of rock
cut architecture in the Chitya Halls and the sculpted pillars of the caves. Maru-Gurjara or
Chalukyan style architecture can also be seen in the Sun Temple of Modhera. Similarly. one can
see architecture belonging to the Chalukya (Solanki) period at Adalaj. a heritage site protected by
the Archaeological Survey of India in the Gandhinagar district. Hence an interesting depiction of
*Ami Khumbor’(symbolic pot with water of life) and “Kalp Vriksha’ (tree of life) carved from a
single block of stone present a marvellous example of the State’s sculptural heritage.

Copper has been in use in Gujarat since the times of the Chalcolithic Age. Its traces are found in
the ruins of the Indus Valley Civilisation at Lothal and Dholavira. The town of Shihor is still
continuing that glorious tradition of metal craft with its 'Kansa’ (Bell metal) works especially pots
and pitchers of various sizes.

Sub questions

Question Number : 46 Question Id : 3421233875 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tunagarh is known for beautiful shrines of which of the following combination of religions?

1. Hinduism, Buddhism, Christianity

t-2

. Christianity, Hinduism, Jainism
3. Hinduism, Buddhism, Islam

4. Islam. Hinduism, Jainism

Question Number : 47 Question Id : 3421233876 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How many edicts of Ashoka are preserved on a boulder inside the Junagarh caves?

1. Ten

]

. Twelve

3. Fourteen

4. Thirteen
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Question Number : 48 Question Id : 3421233877 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which style of architecture is seen in the Sun Temple of Modhera?
1. Maru-Gurjara
2. Solanki
3. Cholan

4. Khamboj

Question Number : 49 Question Id : 3421233878 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A heritage site, protected by ASI in Gandhinagar district is known as:

1. Adalaj
2. Khumbor
3. Dholevira
4. Shihor

Question Number : 50 Question Id : 3421233879 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following places is not associated with either traces of copper or with copper
works?

1. Shihor
2. Lothal
3. Dholevira

4. Modhera

Question Id : 3421233874 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension
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frafefad e tees vl & IR difve -

O] 3 Heldpicdl ToRTd P €99 dal &l YHERC G5 §1 g8 Iy, Udelitid Jgd &
IS WIFT BT HSR ¢ o AT W) & goIRl al S iNd gid &1 SHTe ¥R ¥ fggait,
Sl 3R HaAFl & S U1ite Rid [d g1 SHAFTe ©f Thied # Uh Rards R d dieg
fRIeTTelRg 3fd dd GRId § ol diasl qalsc] 3.9, ¥ 9HIe 3=11D - Icb 0l HRarr U1l 39d
3{cirdT Tgl fare grall § Il &l HIedh 941U U RITA d4T Th1sH § gfd ¥4 GU 170 wndf
& QRIA 3aTgR0l Ui ¢ Sl Yabd g | Glexl & g dick H UR=A[oR g1 A il & -
Ul G ST ebd § 1 341 UhR YRITY YRTdd A& gRT IR fSrd o GRiEd srsresl Add
eRIEY R UR A1dad (Hlde!) I Y Yaled aRdedl ol offl 9l ¢ I81 Ud g [RaRds IR
Ih 0] <3l GER: (Sila- oidl Tigd Hicbidd ) 3R BHegdel (Siia- ol 3&f) B quiH, Y
& RTT B eRIGT BT IH ¥ I8 0 Udd DRl g | ORI H T TR 71 & I 9 gl didl
TR H o STl 36T § | Ry 91t 9Rdr & iy 3R UIdRT e Rell & yaaRit |
20 g U SId ¢ 1 RIGR 9 wer 4 st off e1diRiey &t gg TRawdl tuRl oI’ g wigl
&1l (dd Hed) U f928 =0 9 {954 STHR & §dd 3R 99 §49U d § |

Sub questions

Question Number : 46 Question Id : 3421233875 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SHNTG, fFHfeiad fa yv-agl & xavit nfife widl & fore glawend g2
1. Towq o, sl o, Sars o
2. 3918 i, fewg yf, o e
3. fe ud, 9 o, g
4. 3%, fg=g o, Siew

Question Number : 47 Question Id : 3421233876 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SETTE @1 TH13 @1 ik te Rards TR 3@ & [dha- Jodesl (BXHH) GiEd 67

1G9
2. dRkg
3.9
4.9
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Question Number : 48 Question Id : 3421233877 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Hiex fyd g Hicx H 141w Al urg il g2
1. AREATSR
2. Hicidl
3. did g1 9§ Heifed
4. G

Question Number : 49 Question Id : 3421233878 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YR Q1A Ya&f0T (T TY 313) R TR § Wigd eRig ©d faed ¢ -
1. STl & TYH
2. GHR S EUH
3. IR & U |
4 RER S = H

Question Number : 50 Question Id : 3421233879 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Fafeiad SH-91 -IF, 9 dl 919 gl SR = 81 a9 Siadl 9 ddfed g2
1. RIgR

aYd

3. YIcIdRT

4. TG

B

Education
Section Id : 34212354
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
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Number of Questions : 92
Number of Questions to be attempted : 92

Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 342123158
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 3421233880 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is NOT correct about ANOVA?
1. The F-ratio 1s computed in ANOVA.
2. It is a ratio between “between-groups variance' and “within-group variance’.
3. The *between-groups variance' represents the sampling error in the distributions.

4. F-ratio 1s named after Sir Ronald Fisher.

Question Number : 51 Question Id : 3421233880 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ANOVA & (999 H M™fciRad § 9 19 91 9g! gl o2
. ANOVA H F-3[UTd &1 TUMHI &l Wil B

—

2. 98 “YYg & oI YR 3R -Gg & Ik YR & &< 6T 3{Urd |
Ul & A UEROr faarunt | ufaagH e & ueiRid Sar g
4. F-3fUTd TR IS (AR & A W ¢

L

Question Number : 52 Question Id : 3421233881 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In his work during nineteenth century, Charles Darwin,

1. used the inductive method of Bacon.

t2

. used the deductive method of Aristotle.

3. integrated the deductive method of Aristotle and the inductive method of Bacon.

i

. discarded the deductive method and the inductive method completely.
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Question Number : 52 Question Id : 3421233881 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

el 2AdTed] & QR d1ed STid = 30 Bf H,
. ST B SANTHATHS fafe &1 YT |
. 3RE] Bl (e fafe &1 vt i
3. 3RE] DI FHATHS (14 3R db- &1 SMTEAIHS fafe o ghfhd b

4. TS 3R SEATAS fafe &1 guia: FRied o fea|

2

Question Number : 53 Question Id : 3421233882 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

When for a particular degree of freedom. a null hypothesis could not be rejected at the .05 level
of significance then -

1. Tt will definitely be rejected at the .01 level of significance.

]

. It may or may not be rejected at the .01 level of significance
3. It will definitely not be rejected at the .01 level of significance

4. The given information is insufficient to decide upon.

Question Number : 53 Question Id : 3421233882 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

14 U IR Wia«d $ife & e, I uRe =1 &1 Widdl & .05 TR W 3RdidHd I
[CRIE IR EARGE]

1. 798 I U § grfear & .01 TR TR 3r&ied g Su|

2. U5 rehdl & .01 TR W 31 gl Yl ebell § 3R =151 Hi
3. g Y 9 9 rferdT & .01 TR W 3RdIdd el enfll

4. Ued SR 079 6 & o 2ugitd |

Question Number : 54 Question Id : 3421233883 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following statement is correct about null hypothesis?

1. The null hypothesis relates to a statistical method of interpreting conclusions about sample
characteristics that are inferred from the variable relationships observed in samples.

(]

. The null hypothesis relates to a statistical method of interpreting conclusions about
population characteristics that are inferred from the variable relationships observed in
samples.

3. The null hypothesis relates to a statistical method of interpreting conclusions about
population characteristics that are inferred from the variable relationships observed in
populations.

4. Th null hypothesis related to a statistical method of interpreting conclusions about sample
characteristics that are inferred from the variable relationships observed in population.

Question Number : 54 Question Id : 3421233883 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafefad § 9 & 9 &Y I GRS & fava o 9gl 82

L. X1 URG AT, 349 Ulcag! fa=sarad, i fas ufdaxi & Uféd or Sl gR1 SH1-d &
Sl 8, & (999 | (ehyl & R & Wikers g fafy § =i gl

2. IR URE AT, 3 9P fq=vare, S fob ufaesit § uiaid @R el gR1 Sga1d o
Sl 8. & faug o s i o AR ol giteas g [9fY O wafEd gl

3. Y URE AL, 39 9 fq=warsd, S fb 9ai® o uigrd == Sa=i gR1 A1-d o1
S €, & fawa # i &f oare &1 vifers i fafd § weiRa gl

4. I IR AT, 3 Uldaz faisdra, S fo qafd o Uidd oR Tl gR1 SHA1HT 3
SiTdl €, & [a9g § (shyl & el & gikegad g faftl ¥ geid gl

Question Number : 55 Question Id : 3421233884 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3 x 3 factorial design of experiment represents -

1. Three independent variables with three dependent variables

t2

. Two independent variables with three conditions of each

L

. Three independent variables with three conditions of each.

4. Three independent variables with two conditions of each.

Question Number : 55 Question Id : 3421233884 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

O &1 U 3 x 3 haelRgd Sulls g ffHodd &l o
1. A e =R & Oy Ji9 WA =R

UdS &I I Ul & 91y gl Wodd =R
3. U &l diF gl & 91y JH Wda @)
4. Uds &l o fufagl & 91y 9 Wda @R

f-2

Question Number : 56 Question Id : 3421233885 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The term *Andragogy’ was coined by:

1. Malcolm Shepherd Knowles

t2

. Edward C. Linderman
3. Johann Heinrich Pestalozzi

4. Alexander Kapp

Question Number : 56 Question Id : 3421233885 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 57 Question Id : 3421233886 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A teacher conducts an assessment in her class and then adjusts the next lesson to meet the
students' needs. She is doing:

1. Assessment of learning
2. Assessment for learning
3. Assessment as learning

4. Assessment through learning

Question Number : 57 Question Id : 3421233886 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Uch [2ifarent 319l Hef 1 U Yedid ddl g 2R [ faenfdal &1 saaddisii &1 g1 34
o TeTU 3[04 3Tl UT6 Bl 3 d a4l g1 98 BIIG! o

. ST DT Yl
 HIWTH & T geaicH
3. 39T & U d g i

—

I

4. AT & GreAd 9 gedicd

Question Number : 58 Question Id : 3421233887 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following is NOT true about critical thinking/critical pedagogy?

1. The focus is to understand the oppressions of the individual, group and society which might
be self-imposed.

. The focus is to understand the oppressions of the individual, group and society which might
be created via external forces.

(]

. According to Freire dialogue is capable of generating critical thinking.

ad

4. According to Freire dialogue does not need any pre-requirement in the classroom.

Question Number : 58 Question Id : 3421233887 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[afafad 9 9 o491 fbfedd fifdbn/ibiedd dsrimsl & favg § ¥a =gl g2
L. %a%ﬁﬁ.ﬂ%amw$waﬂ#fu?wmﬁmw%ﬁwmﬁﬁa
|
2. g1 Aidd, Yg TY1 YU & 3 GOl IR & hisid (61 S1d1 g ol 91gl 9 & A1y
Y giod fhu o1 9dhd g

3. T & YR Ydlg fbfeamd f[Aidhn &1 Saf § gem gl
4. T & YR H&f § Ydig & [oU I Jd-3M1aadhdl 15 |

Question Number : 59 Question Id : 3421233888 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The tenth category of Flander's Interaction analysis is related to:
1. Teacher Talk
2. Pupil Talk
3. Accepting the ideas of pupil

4. Silence or Pause or Confusion

Question Number : 59 Question Id : 3421233888 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 60 Question Id : 3421233889 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The main difference between Galloway's system of interaction analysis and Flander's interaction
analysis Is :

1. Augmentation and integration of non-verbal communication aspects by Galloway.
2. Removal of verbal communication aspects by Galloway.
3. Removal of non-verbal communication aspects by Galloway.

4. Augmentation and integration of non-verbal communication aspects by Flander.

Question Number : 60 Question Id : 3421233889 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tclld B 3f=d:febar faZeiyor yorell 3R el & 3i=k: bl a2 yur & gen gy 3=k g
Td1d gR1TR - AIRae YaTg Ueil &1 Yae 3R A -

TIdid gRT HIRAS YdTg uafl o1 faer
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—
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[FS]

Question Number : 61 Question Id : 3421233890 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following CC licenses of OER allows others to distribute, change. remix and build
upon your work, even commercially, as long as they credit vou for the original work:

1.CCBY - NC - 5A

(]

. CCBY -NC
3. CCRBY

4. CCBY - SA

Question Number : 61 Question Id : 3421233890 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

313 AR & [HElREd § 8 $F 4 cc dRy-4y Gl @I, 3(Ud HIH I YR §41 IR,
qifvifcds U § i, 59 de d 319 G S DI 99 od ¢, faaror, uRadH, gAfdyor sk
fRToT P SHld &d 82

l.CC BY - NC - SA

B

. CCBY - NC
3. CCHY

4. CCBY - 5A

Question Number : 62 Question Id : 3421233891 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is related to Web 2.0?
1. Read only pages
2. Semantic Integration and Data Interoperability
3. Social Networking and User Generated Content

4. Advance Virtual Reality

Question Number : 62 Question Id : 3421233891 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 63 Question Id : 3421233892 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is NOT a quadrant of MOOCs?

l. e-Tutorial

t2

. e-Content
3. Web resources

4. Assessment by the Tutor

Question Number : 63 Question Id : 3421233892 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafaRad ° 9 &M 91 MooCs &1 Udb Iqyf g1 g2
1.3 - eI
2.3 - Pl
3. 39 R

4. TR P gRI DA

Question Number : 64 Question Id : 3421233893 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following does not come under the updated D & M IS Success Model (2003)?

|. Information Quality

t2

. System Quality

L

. Net Benefits

4. Organisational Impact

Question Number : 64 Question Id : 3421233893 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafeiad O 9 &1+ 91 3ea- S UUS U 315 T Yauy 073 d (2003) & Sid 181 S1d
1. G- 1 0Tl
2. JUTT bt ToradT

3. pa A
4. HITSATHSD UHIG

Question Number : 65 Question Id : 3421233894 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The function of search engine to scour the internet for content, looking over the code/content for
each URL they find. is called:

1. Indexing
2. Crawling
3. Ranking

4. URL

Question Number : 65 Question Id : 3421233894 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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4. g3RTd

Question Number : 66 Question Id : 3421233895 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A class teacher administered Thematic Apperception Test (TAT) to a group of students to assess
their:

1. Achievement
2. Awareness
3. Attitude

4. Personality

Question Number : 66 Question Id : 3421233895 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Uch D& A (9l & e gyg R Giafds TRIRHE ¢ (1udl) &I U= 396
............ DI el B3 & foTd fha |

1. 3Udfe
2. vililedhd

3. ¥
4. Afdkdd

Question Number : 67 Question Id : 3421233896 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following in NOT a principle of guidance?

1. Holistic development of an individual

t2

. Recognition of individual needs and differences

L

. Non-cognizance of individual differences

4. Acceptance of individual needs

Question Number : 67 Question Id : 3421233896 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FrefRad © Y oIH I1 JIGRH BT G el 87
1. U Al &1 9HY f[dbryg

>, AfadiTd agadhdredl AR Hadiel & ugaH
3, AfaaiTd fHaar3li &1 k7=
4. TG ATaRaHdr3ff &1 WIHEdI

Question Number : 68 Question Id : 3421233897 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Those who are soft and round, such personalities are categorized by Sheldon as:

1. Ectomorphic

[

. Mesomorphic
3. Asethetic

4. Endomorphic

Question Number : 68 Question Id : 3421233897 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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d Sl S 3R 7Md gld §. UH Hfdddl &l s gRI 9 YR ¥ aifigd fdhar mar g:

4. TS

Question Number : 69 Question Id : 3421233898 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Question Number : 69 Question Id : 3421233898 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Y U HAfdd b Aldded b YT 2iied - 707 g, Sl I Y91 I Afdkded Pl UHITAd B Hbd §
fob fdd dhad Il 2iiel 01 I S S bl B

L. o7 =fid - 707
2. T i - 01

3. T T - 0T
4. B=<1g el - 707

Question Number : 70 Question Id : 3421233899 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Negative reinforcement is:

1. the same as punishment

]

. not generally liked by the organism

3. meant for decreasing the probability of the occurrance of a behaviour

e

. resulting in directly opposite behaviour

Question Number : 70 Question Id : 3421233899 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 71 Question Id : 3421233900 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Mass education, or the idea that anybody and everybody can learn owes its genesis to:

l. Colonialism
2. Modernism
3. Postmodernism

4, Reformism

Question Number : 71 Question Id : 3421233900 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

oI 1811, 31yd1 gg faaR b Bl 47t 3R Udd i SHETH HR Yohdl 8, 3MU+1 Idid & fau

1. JUHdRErG
2. YfAPHarg
3. STR3ATYf TG

4. QYRATG

Question Number : 72 Question Id : 3421233901 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Schooling reproduces norms and values. Norms and values are simply epiphenomenal
expressions of the ruling class. This idea can be associated with:

1. Realism
2. Pragmatism
3. Marxism

4. Post modernism

Question Number : 72 Question Id : 3421233901 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

faererdl f2rem AFeusS! SR ged! &1 yAvdia- dXdl g | HHGUS 3R el QYR
QB 91 &1 gaedidD ifufwial g1 29 f[adR &l [99 & 91y Y a1 ol Gabdl ¢

1. gyrarg
2. TSHATG
3. Araydrg

4. 3R AYHDdIg

Question Number : 73 Question Id : 3421233902 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which amongst the following is NOT a Marxist theorist of Sociology of Education?

. Emile Durkheim
2. Althusser
3. Gramscl

4. Bowles and Gintis

Question Number : 73 Question Id : 3421233902 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 74 Question Id : 3421233903 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Select the correct statement in the following:

1. The state spends six percent of GDP on education.
2. Education is a subject matter of the state government.

3. The State of Karnataka has established its own State Education Policy Commission to
review NEP and give alternative policy for the state.

4. Education Cess levied goes to the accounts of the State Government.

Question Number : 74 Question Id : 3421233903 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

afiRad H 9 98l &Y &1 994 B |

1. T SIS Ut &1 @: Uicrrd a1 i o0y Hdi g
2. TRI&T I8 ROR Dl fawg g1 1 g

B o gRI1 T 5 Ul GHI& B T A4 & e debfedd Hifd & & 6T 391 W&
o1 1oy Qe Hifd manT afdd fean g1

4. IGUgId MR8 Y I bR & Widl H S1d1 g
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Question Number : 75 Question Id : 3421233904 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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This theory affirms that education is a sequence of selection between binary options of available
long-term utility and short-term risk of failure.

1. Rational Choice Theory

(]

. Systems Analysis Theory
3. Signalling Theory

4. Human Capital Theory

Question Number : 75 Question Id : 3421233904 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g (gl g @l 8 b Rien 3udsy Shafaitie Sudifiidr & fgueid [ddbedl sk sbdd
& HcUdiP SIRGH & did 999 1 U hH g |

1. AT 9 &1 far
2. Ugfd fazeivor &1 g
3. Yo g

4. 1149 Yoil ol g

Question Number : 76 Question Id : 3421233905 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

It is a learning platform that brings together an integrated environment. a range of resources that
enable the learners and teachers to interact online and includes content delivery and tracking.

1. SPSS
2. META AI
3. SWAYAM

4. R

Question Number : 76 Question Id : 3421233905 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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L. gqUITHTY

2. HeTuag

3. W4

4. 3R

Question Number : 77 Question Id : 3421233906 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which component 1s NOT a part of RMSA initiative?

. Construction of new classrooms
2. Provision of scholarships
3. Establishment of laboratories

4. Appointment of additional teaching faculties

Question Number : 77 Question Id : 3421233906 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

I HI U¢h RUATHY Ugd BT HITT g1 62
1. U defl it 1 FHafor

- DAl BT Uray

3. TANTRITCTI3 B RITTT

4. 3faRad sreATUHi o1 fgfad

B

Question Number : 78 Question Id : 3421233907 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The Dave Committee report is especially focused on:

1. Minimum Levels of Learning (M.L.L.) at Secondary Level

t2

. Minimum Levels of Learning (M.L.L.) at Primary Level
3. Art and Craft Education at Primary Level

4. Early Childhood Education

Question Number : 78 Question Id : 3421233907 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

&d gifa Ruid {99y 9 9 Hfed ¢
1. AT S TR OR AdH Hi9H TR (TH. Td. T,

2. U TR TR AdH LT TR (TH. T, Ud.)
3. YIS TR IR &l U4 fRreT f2ren
4. URTA{® drearaRy] f2rer

Question Number : 79 Question Id : 3421233908 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to which commission. a majority of stand-alone Teacher Education Institutions - over
10,000 in numbers - are not even attempting serious teacher education but are essentially selling
degrees for a price?

1. Radhakrishnan Commission

2. Mudaliar Commission

3. Kothari Commission

4. 1.S. Verma Commission

Question Number : 79 Question Id : 3421233908 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. TP ST
2. HeTferaR 3EnT
3. BIGRT TN

4. .U GHT AT

Question Number : 80 Question Id : 3421233909 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who was the Chairperson of National Commission on Teachers (1983)?

1. Prof. Yashpal
2. Dr. Ram Murti
3. Sam Pitroda

4. Prof. D. P. Chattophadhyay

Question Number : 80 Question Id : 3421233909 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR HHITH 3T =Y (1983) D & DI U2

L. U1 g=rgTed
2. S1. M gid
3. 99 fotler
4. 91 S1. 41, Iy

Question Number : 81 Question Id : 3421233910 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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According to Gutherie which is NOT an important characteristic of strategic leadership?

1. Vision

t2

. Inspiration
3. Symbolic

4. Strategic Orientation

Question Number : 81 Question Id : 3421233910 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR & SR, gl Add B B Ul Ub Hgaqu] [d=IvdT 981 g2
1€
2. IR
3. UdidTdHD

4. 3TogE! AfHGArg

Question Number : 82 Question Id : 3421233911 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who is known as the Father of Management Process?

1. Elton Mayo

[

. Abraham H. Maslow
3. Henry Fayol

4. Edger Henry Schein

Question Number : 82 Question Id : 3421233911 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 83 Question Id : 3421233912 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which model of leadership relies on reward and punishments to motivate followers?

l. Transformational
2. Democratic
3. Transactional

4. Servant

Question Number : 83 Question Id : 3421233912 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Iqcd BT HH A UIRT ST BT Uicifed B & a0 IRBR 3R 508 | AR B

. FURRURS
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Question Number : 84 Question Id : 3421233913 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Among the following which is NOT an advantage of SWOT:

1. It is easy to understand
2. It is easy to communicate
3. Data collection, evaluation and decision-making are easily confused

4. Applicable to many levels in an organization

Question Number : 84 Question Id : 3421233913 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafeiad @ ¥ &1F 91 tgsseg 3{id] &l Udh oy gl o:
1. U8 GHI H 39H ¢
2. I8 RN H I 3|
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Question Number : 85 Question Id : 3421233914 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the primary focus of Poka-Yoke model in educational leadership?

1. Eliminating financial inefficiencies
2. Preventing errors in educational process
3. Enhancing student-teacher communication

4. Developing innovative teaching materials

Question Number : 85 Question Id : 3421233914 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 86 Question Id : 3421233915 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is NOT a part of curriculum development?

1. Choosing appropriate transaction strategy

t2

. Exploring relevant learning experiences
3. Identifying effective teachers

4. Progressive testing of the achievement of objectives

Question Number : 86 Question Id : 3421233915 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fFafeiRad ® 9 & 91 urea=gf [dhRT 1 Udh 4T g1 82
1. UG H1-YUTE ST Bl Fg DRl
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Question Number : 87 Question Id : 3421233916 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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*Core Design’ is an example of:

. Learner-centered curriculum

2. Problem-centred curriculum

L

. Subject-centred curriculum

4. Core-curriculum

Question Number : 87 Question Id : 3421233916 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

DR SO TP I &:
1. AferTHeIl-h < et
2. JHHI-Bf<d urea=ai
3. faug o fid ursw=ai
4, BR-YISI=Al

Question Number : 88 Question Id : 3421233917 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Curriculum was defined by as “a plan for action, or a written document, which
includes strategies for achieving desired goals or ends™.

1. Galen Saylor (1970)

2

. Tanner & Tanner (1980)

ad

. Tyler and Hilda Taba (1962)

4. Oliva (1982)

Question Number : 88 Question Id : 3421233917 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 89 Question Id : 3421233918 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The congruence-contingency model of curriculum evaluation was given by:
1. Tyler
2. Stake
3. Scriven

4. Kirkpatrick

Question Number : 89 Question Id : 3421233918 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U&=l Jeldidh & BIU- - Bi-c~o-41 Uiaed &l {5 & gIRT fean 1 o
1. TRER
2. &¥dh
3. [&pa
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Question Number : 90 Question Id : 3421233919 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Problem-based Learning (PBL) approach is used for curriculum development as it results in:

1. Reducing the gap between curriculum and syllabus
2. Enhancing the emplovability of learners
3. filling the gap between academics and practioners

4. economic growth of the country

Question Number : 90 Question Id : 3421233919 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

a1 ARG A (Fsiud) IURTH &1 IYANT UTddadi &f [db Rid & o ot
SIdl © i a8 gRumHd:
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4. G &1 b fadry

Question Number : 91 Question Id : 3421233920 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Choose the correct order of events for a true experimental design:

A. Random selection of total sample units

B. Exposure to the treatment

C. Identification of population

D. Random assignment of treatment to one group

E. Random division of sampled units into two (one for experimental and one for control)
groups

Choose the correct answer from the options given below:
1.C.AE. DB
2.C,E; A B, D
3.C,E.AD.B

4. B, C, E. A D
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Question Number : 91 Question Id : 3421233920 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 92 Question Id : 3421233921 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Choose the correct order for the steps involved in the process of construction of a standardized
test:

A. Writing the items
B. Pre-try out

C. Dress-rehearsal

D. Planning of the test
E. Final try out

Choose the correct answer from the options given below:

I8 D B E

2

A D CBE
3. D,A;B,E, C

4. DA C.B.E

Question Number : 92 Question Id : 3421233921 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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U THGIGd G101 & Hafor S ufchdr § Gieferd <Rl & gl 1 &1 999 S

A. UGl &I fagm

B. Jd — T80

C. 931 Ay

D. GRI&J01 B o1 & A0
E. =09 gdieqon

i fu U fad el § 9 @81 IR &l 994 Diflu;

1.A,;D, B, C,E

2.A,D,C,B,E
3.D,A,B.E.C

4. D. A C B, E

Question Number : 93 Question Id : 3421233922 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The correct sequence of the five steps of Morrison's teaching model is:

A. Recitation
B. Organisation
C. Assimilation
D. Presentation
E. Exploration

Choose the correct answer from the options given below:
1.D,C,A, B, E
2.B,A,C,D.E
3. ED,C, B A

4. E.D,C,AB

Question Number : 93 Question Id : 3421233922 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.D,C.AB.E

2.B.A,CDE
3.E.D.C B A

4. E.D,C,A, B

Question Number : 94 Question Id : 3421233923 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Hackney and Cormier (2005), the correct sequence of steps of counselling process
is:

A. Goal Setting

B. Problem Assessment

C. Evaluation, Termination or Referral
D. Relationship Building

E. Counselling Intervention

Choose the correct answer from the options given below:

1.D,B,AE,C
2. By A D CLE
3.4,B,D,C,E

4. A,D,B,E,C

Question Number : 94 Question Id : 3421233923 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Sh1 SR BIHR (2005) D IR, T UichdT & =R01 BT HET hH ¢:

A. &0 — YR
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D. Gt fmior

E. IR g1y

i fu U fad el § 9 @81 IR &l 994 Diflu;

1. D, B, AE, G

2.B.A,D.CE
A B DA E

4.A,D,B,E,C
Question Number : 95 Question Id : 3421233924 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The correct hierarchy of needs given by Maslow is:

A. Safety Needs

B. Prestige Needs

C. Physiological Needs

D. Self Actualization Needs
E. Needs for Belongingness

Choose the correct answer from the options given below:

1A, C E. DB

B

AL A BB D
3.4,C,B,E, D

4.A. B, C, D, E

Question Number : 95 Question Id : 3421233924 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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i fu U fad el § 9 @81 IR &l 994 Diflu;

1.A,C.E. DB

[

ACAEB.D
3.JA.C.B.E.,D

4.8, B.C; D, E
Question Number : 96 Question Id : 3421233925 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The correct sequence of the steps for developing an Instructional Design is:

A. Assessment

B. Delivery of Instructions

C. Deciding Instructional Goals
D. Need Analysis

E. Task Analysis

Choose the correct answer from the options given below:

1.A,C,D,B,E

B

A BB
3.D,CE, B, A

1A BD.CE

Question Number : 96 Question Id : 3421233925 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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U HEMdAHS fSHed I f[AHid B & <RI &1 el i ¢

A, 3THaA

B. G211 &1 f[da=u

C. FeTdEs el &7 YR S
D. =g dl [daIyul

E. &1 fageiyu

i fu U fad el § 9 @81 IR &l 994 Diflu;

1.A,C.D,B.E

[

CADEB
3.D.C.E,B.A

4.A,B,D,C,E

Question Number : 97 Question Id : 3421233926 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Islamic philosophers divide natural/universal expressions in five types:

A. Common Accident
B. Species
C. Property
D. Difference
E. Genus
Choose the correct answer from the options given below:
1.E.AC.B.D
2 E:B. DA
3.8, B. D EC
4.E,D,C,B,A

Question Number : 97 Question Id : 3421233926 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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SIS GRIFS Wihidd / GrdUIifS sfiireafdddl ol uid UhRT H fquiisid &d g:

A, HH-Y YAl
B. UuTfd

c. gafd

D. 4q

E. 49

i fu U fad el § 9 @81 IR &l 994 Diflu;

LoE A OB D

2E.B.ILE A
3..BDE

4. E.D,C,B,A

Question Number : 98 Question Id : 3421233927 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following chronologically:

A. Hunter Commission

B. The Education Dispatch

C. Grant's Plan

D. Establishment of Universities at Calcutta, Bombay and Madras
E. Charter allocating one lakh rupees

Choose the correct answer from the options given below:

1€, B, ED A
2.A,.C,D,E,B
3.0,E,C,B,D

4.CEB. DA

Question Number : 98 Question Id : 3421233927 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(FAfeRad &I PIaIHH H TaYd B

B. E:Q@%ﬁm%ﬁa

C. U9 W

D. haiddl, difd 3R Agr H fayfderadl &1 9T
E. U dRd ¥UU 3Tdfed H arell 9rex

i fu U fad el § 9 @81 IR &l 994 Diflu;

1.C,B.E.D. A

[

A, C. D EB
LAECBID

4 C,E.B.D. A
Question Number : 99 Question Id : 3421233928 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following theorists chronologically.

A. Functionalist - Durkheim

B. Open System Theory - Bertanlaffy
C. Symbolic Interactionist - Mead

D. Conflict Theorist - Weber

E. Conflict Theorist - Marx

Choose the correct answer from the options given below:

1.E,B,C,A,D

B

e B DL E
3.4,D,8B,C,E

4. EAD.C,B

Question Number : 99 Question Id : 3421233928 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fafRad RISTaeR! & SIS H AT D
A. USIdIE - gdi|

B. fdad I IS HR — SRATE]
C. UdIdIdd® 3f=:fhamard] - 1S
D. 55 - SR - dR

E. 55 - NG®R - Ay

i fu U fad el § 9 @81 IR &l 994 Diflu;

LB B A D

[

A, B, CILE
3.8 B BB

4 EADCB
Question Number : 100 Question Id : 3421233929 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Correct sequence of five quality indicators used in Education given by Ogawa and Collum:

A. Description
B. Mounitoring
C. Policy Relevance
D. Evaluation
E. Value Judgement

Choose the correct answer from the options given below:

1.A,D,B,E,C

B

e By BoG 1
3.4,C,B,D,E

4. A, E,D, B, C

Question Number : 100 Question Id : 3421233929 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3T 3R Dlced gRT faU U fR1&T § Ygad S ¥ Tuidd] Y& | B Tgl hH &
A. faaror
B. %A
c. Fifd Iugadd
D. HAlhA
E. g fquig
d feu U fqdh el & 9 F8T IR &1 98- BT

1.A, D, B, E, C

2.A,B,E,C,D
3.A,C,B,D,E

4.5 E DB, C
Question Number : 101 Question Id : 3421233930 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The correct sequence of functions of management is:

A. Directing
B. Organising
C. Planning
D. Controlling
E. Staffing

Choose the correct answer from the options given below:

1.C,BAED

B

LB EoA D
3.4,C,B,E,D

4. ADBEC

Question Number : 101 Question Id : 3421233930 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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U= & UHMl &l Yol HH o:
A. FERa S

B. T HAl
C. gISHET g1
D. [Fg=0 &A1
E. HHART Hal

i fu U fad el § 9 @81 IR &l 994 Diflu;

1.C,B,AE, D

[

A BEAD
3.JA.C.B.E.,D

4.A,D,B,E,C

Question Number : 102 Question Id : 3421233931 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The correct sequence of consequential leadership style of Managerial Grid is:

A. Country Club

B. Team Management

C. Impoverished Management
D. Authority - compliance

E. Middle-of-the Road

Choose the correct answer from the options given below:

1.A,B,E.C,D

22B.C,D,AE

3. D80, B, CF

4.CADEDB

Question Number : 102 Question Id : 3421233931 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A. Dl ddd

B. S Ua=H

C. TR ge=H

D. UIfY®R 3aTe-

E. fed- 3 _gs

i fu U fad el § 9 @81 IR &l 994 Diflu;

1.A,B.E.C,D

2.B,C,D.AE
3.D,A.B.C.E

4.C,A,D.E,B

Question Number : 103 Question Id : 3421233932 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Organise sequentially the components of an effective curriculum development process:

A. Defining course goals.

B. Developing assessment items to measure student progress.
C. Identifying key issues and trends in the content area.

D. Determining the success of the program.

E. Identifying resource materials.

Choose the correct answer from the options given below:
1.C,B,AED
2.8, A, F, D, C
3.4,B,C,D,E

4.C.AE B, D

Question Number : 103 Question Id : 3421233932 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TUTd! UTea=at fdb T Uil & gcdh] ol hH 1 Adid Hi:

A. a0 & d&af &l GRHING BT

B. [=if &1 UvIfd & AT & fTU 3o Hal & [abiad &
C. ®I<< & &3 1 I el 3R ugid! &1 Ugar &l

D. HAHHA B Ghddl Bl YR S

E. 991¢H 9HRE! &1 UgdE Bl

i fu U fad el § 9 @81 IR &l 994 Diflu;

1.C,B,AE, D

2.B,A,E,D,C
3.A,B,C,D,E

4. C,A,E,B,D
Question Number : 104 Question Id : 3421233933 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange following categories of children in order of increasing IQ -

A. Slow learners

B. Moderate Mental Retardation
C. Mild Mental Retardation

D. Profound Mental Retardation
E. Severe Mental Retardation

Choose the correct answer from the options given below:

1.DLE,B,CA

B

E; DB A
3.D,B,C,E., A

4.E,C,A,D,;B

Question Number : 104 Question Id : 3421233933 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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dfs e (gAY & d¢d HH 1 d=df & FEiRad a7 & HIRYd 63

A. HG &l
B. 900 & Hed
C. 9 AARS Hed
D. g RS Hed
E. did AH®D HeA

A fau U fadedl § U ¥8T 3R &1 994 DI

1.D,E,B,C, A

2.E,D,C,B,A
3. DB, C.EA

4 E.C,AD.B

Question Number : 105 Question Id : 3421233934 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Following are significant milestones in the field of inclusive education. Arrange them
chronologically:.

A. National Education Policy
B. Salamanca Statement

C. United Nations Convention on Rights of the Persons with Disabilities (UNCRPD)
D. Sarva Shiksha Abhiyan
E. National Policy on Disabilities

Choose the correct answer from the options given below:
1.B,C, A E. D
2.B,E,C, A, D
3.B,D,E,C,A

4. B.C.A D E

Question Number : 105 Question Id : 3421233934 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fraferRaa qurazi fRiem & &3 H 9rde Hid & YRR g1 3¢ SIdi-sd H Haild o

A. R T2 Ul

B. HICITHI®bI

C. A58 -9 B4 3 Ugcy 31 & y4-q 9y fsufafeads (guadieamdish)
D. Td & it

E. 2 Uiferdl o+ feafaferds

A fau U fadedl § U ¥8T 3R &1 994 DI

1.B,C,AE, D

[

.B,E,C,A, D
3.B,D.E,C,A

4.B,C,A,D.E

Question Number : 106 Question Id : 3421233935 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true about ‘hypothesis’?

A. The minor premise of the older deductive method was gradually replaced by hypothesis.

B. Snow (1973) described six levels of theory, with the first level being hypothesis formation.

C. For the hypothesis to be testable, the variables must be operationally defined.

D. The most common use of hypothesis is to test whether an existing theory can be used to
solve a problem.

E. The hypothesis focuses the investigation on indefinite targets.

Choose the correct answer from the options given below:

1.A. B, Cand D only
2.B,C,Dand E only
3.B. C and D only

4. C and D only

Question Number : 106 Question Id : 3421233935 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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GR&eTAr & favg ¥ HYRad # 4 &1 U &y 9d o2

A, UTHH FHATES fafe &1 7110 o= $ife 9 U URG AT gRT UfaATiud g 1Tl

B. @I (1973) 1 << & ©: TRl &1 9uA a1 faH giRdedHT HHE70 gy TR o1

C. UREedAT & URIeuig g4 & e, =R Uihardts ¥4 Y URHING giH 9iisu|

D. URG I &1 G M YA g GHE0 BT 3 [ U Hislal R 1 U GHET
DI gal H- & TelU YgiT fhdl 7 Idbdl o |

E. URS ! AT dedl & <9l IR &9 hi<d ddl g

- feu e faseut # ¥ #T IR &1 99 DI
1. Had A, B, C 3R D
2. $hAad B, C.D 3R E
3. $dd B, C 3R D
4. Hdd C 3R D

Question Number : 107 Question Id : 3421233936 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is true regarding “grounded theory’ research?

A. Axial coding is the process of relating sub-categories to a category.

B. It includes continuous comparative analysis of cases.

C. Selective coding continues the axial coding at a higher level of abstraction.
D. The size of sample is determined by the theoretical saturation of categories.
E. It is a substitute of experimental research.

Choose the correct answer from the options given below:

1. A.Band C only

b2

. A, B, CandD only
3.B. C and D only

4. A, Cand D only

Question Number : 107 Question Id : 3421233936 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FafaRd IS T - Ides Al MY & Jed T 9a g2

A. & B — o I Dl Ub 1 Y GIRId 63 bl Uiha1 g |

B. 394 Al &1 Ydd Jel-Iddd ¥y 9iafed g

C. TYAIED B — Yhd 3ddl & Ik TR W & He — Ydvd &l FR=R @i gl
D. Ufde s &1 SR 971 S YsTi<id Yt  FyiiRd fhar Srar g

E. I8 WIIIdE WY BT IS UaRAHD g

i feu T fahedl § 9 a1 IR B 99 DIIT;
. Hdd A, B3R C

2. BAA A, B. C 3R D
3. $9d B..C AR D
4. HAAA, C 3R D

Question Number : 108 Question Id : 3421233937 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are the assumptions of Knowles' theory of Andragogy?

A. Readiness to learn
B. Internally motivated (Motivation to learn)
C. Self-concept
D. Mandatory guidance
Choose the coerrect answer from the options given below:
l.A.Band C only
2.B, Cand D only
3. A.Cand D only

4. A and B only

Question Number : 108 Question Id : 3421233937 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FafaRad o O &F U I & TrISl & RS & gdUR g2

A. ST D TRl

B. <R G U FHURT (3EH BT SR
C. & - Uy

D. 39 ArfeEH

A fGu U f[ddedl § O 8T 3R &1 904 DT

. Hdd A, B3R C

2. $Had B, C 3R D

3. HAd A, C 3R D

4. Hdd A 3R B

Question Number : 109 Question Id : 3421233938 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Dynamic Model of Learner Autonomy is:

. a tool for self-assessment

. a tool for choosing appropriate pedagogy by the teacher in classroom
given by Tassinari

to be followed in fixed ascending order.

Onwp

Choose the cerrect answer from the options given below:

1. A and B only
2. Aand C only
3. B and C only

4. B and D only

Question Number : 109 Question Id : 3421233938 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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ISl & Wl DT TATHS Uy :

A. 3 — HAIB D Th ITHR]

B. B&T H &/ gR1 Iugad e fafy & <o &1 U IuHhu
C. IR §R1 Yed

D. [94d SRIg &1 H 50T {Ha1 Y

i feu T fadetl 7 9 FT SR D1 99 BIfT:
1. ®dd A 3R B
2. Had AR C
3. PIAB R C

4. HAAB 3R D

Question Number : 110 Question Id : 3421233939 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct?

A. Gagne has classified learning into Six (06) types in a hierarchical order.

B. The study of instrumental conditioning started from the puzzle box experiments on cats by
Skinner.

C. The law of disuse states that other things being equal, when a modifiable connection
between stimulus - response (S-R) is not made over a period of time, the strength of that
connection is weakened.

D. Hull's theory of learning is called *Drive-Reduction Theory’.

E. Shaping is the most important mechanism used in classical conditioning.

Choose the correct answer from the options given below:

1. Aand C only
2. B and D only
3. Aand E only

4. C and D only

Question Number : 110 Question Id : 3421233939 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fafeiRad # U &F U oY Id g2

A. T F ST &l Uerhd H &: YdbRI § diiihd fdhar gl
B. AAfI® a2 &1 ey Ep-R g1 fafceral U Ueferdlady W I YR gl

C. 3TN &1 90 Hgdl ¢ fd $@ g dob fhdl IEIY 3R 331 & did §-Righi 7

REEEENEINESEIGIE
D. B9 &1 UTH &1 Rt 3139 - NSRH g Heddl gl
E. QT Felif¥dd sigd=H O uaiT foar siHdre 968 gyl Uhd gl

- feu e faseut # ¥ #T IR &1 99 DI
1. Pdd A 3R C
2. $Hdd B 3R D
3. Had A 3RE
4. Had C 3R D

Question Number : 111 Question Id : 3421233940 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are incorrect?

A. Thorndike's theory is atomistic theory of intelligence.

B. Evaluation is the primary mental process which means retention of what is recognized.

C. Group of specific abilities known as *S’ factor is universal inborn ability.

D. According to Faculty theory of intelligence, mind is made up of different faculties like
reasoning, memory, discriminations and imagination etc.

E. Structure of Intellect Model of Intelligence was given by Spearman.

Choose the correct answer from the options given below:

1. A.Band C only
2.B, C and E only
3.B. C and D only

4. A. Cand D only

Question Number : 111 Question Id : 3421233940 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fgfaRad § 9 &1 T &Y= 7Tdd g2

A. YHSEd & ST g &1 wRAErd] S g1

B. Jcdidh1 Ucb WIS AHS Ufchdl g ST 314 g Sl UgdHI 11 § 39D HeYd HT|
c. fafy emarsii &1 9ig, 579 -s° $RE & 10 T S 1A 8, GidHd Ssiid grgdi g |
D. 9 &1 Yo Ul d WA gR1 f6ar 1/ 1|

A fGu U A edl § O 8T 3R &1 904 DifoiL:
. Hdd A B3R C

Question Number : 112 Question Id : 3421233941 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are incorrect?

A. Asynchronous Interaction takes place in real time.

B. A blog offers interaction with reflective comments and also the ability to interlink related
ideas.

C. Synchronous Interaction gives freedom to the learner to learn at his’her own pace and as per
the availability of time at his/'her disposal.

D. Question Mark Perception is a software which provides scope for submission of answers to
multiple choice questions.

E. Calibrand Marker is an Intranet based worktlow application through which assessment can
be carried out for formative tests.

Choose the correct answer from the options given below:

1.B, C and D only

2. A, Cand D only

3.C.Dand E only

4. A. B and C only
Question Number : 112 Question Id : 3421233941 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fAafRad 7 U &F T Y- TTdd o7

A. TavadTics 3f=:fdhar ardfd® THg 9 gfed gidl g |

B. sl Few1=iTe fewfort gigd sr:fshar Sk 91y o GrafRid faRl & sf<qaie ol
&1 D1 Ugd HRdT B

C. GADIeID S:fham D BT U1 10 U 3R IHD G0 6l IUAAl & TR
HIEATH BT Wdddl Gl g |

D. YT RIRH Uh e dR g Sl dgiddhedia usl & SRl &l Ukdd &R Pl a8
UG $Hdl g

E. hailslis HIh U 3{d: TN SR HR-UAIE S=UaRT ¢ fordd 31 I Id-1d S
TRIEI0T & feTU 2Tehei 1 YRS fhdl S Gl 3 |

-4 feu U fasetl # 9 @1 SR &1 99 ST
1.%dd B, C 3R D
2. Had A, C 3R D
3. $Had C, D 3RE
4. Had A, B3R C

Question Number : 113 Question Id : 3421233942 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are NOT steps of Instructional Technology?

A. Selection of Instructional material
B. Suggestions for improvements

C. Selection of Appropriate Alternative
D. Reinforced Practice

E. Description of Restrictions

Choose the correct answer from the options given below:

1. A. B and C only

]

.B. C and D only
3. A.Cand D only

4. C.D and E only

Question Number : 113 Question Id : 3421233942 Question Type : MCQ Option Shuffling : No
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fAafeiad @ 9 &1 ¥ SHeTHIdHS dh-idl & a0 gl g°

A. 3G U 6T 98-
B. GYRI & fag g

- fau U faded! # ¥ FgT SR B 909 BT
1.had A, B3R C
2. $HIAB. C 3R D
3. ®dd A, C 3R D
4.9ad C, D IRE

Question Number : 114 Question Id : 3421233943 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are TRUE?

A. Bismillah - a ritual was performed at the age of 4 years 4 month and 4 days in Muslim
Education.

B. Pabbaja - a ritual performed at the age of 8§ years in Buddhist education

C. Upasampada - a ritual post -education for permanent membership of a Sangh in Buddhist
education

D. Upanayana - a ritual to begin education at the at 8. 11, 12 and 15 vears of age for brahmins,
kshatriyas, Vaisyas and Shudras

E. Ballabhi and Jagdalla - Centres of Vedic education

Question Number : 114 Question Id : 3421233943 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fFafRad # U HH U By Id g2

A. TaTFreeiTe — gie e & 4 9y 4 418 31 4 &4 &1 31 R (YIS SHdrcdl T3

B. Usswll — g fRI&1 o 8 a8 &1 317 UR [AHTS 4Tl T

C. UTME] - ol & 1 U 9 & WR Jedl & 0 Rien g3 g4 & gyrd furg
STdTell T

D. SUH — SITEIuT, &f2al, 321 SR Y&l & faU s, 11, 12 3R 15 T8 DI 3 W RAR™ &
felu 3

E. deait]l SR SiTeed - dfes Rign & &=
i< fqu MU fasetl # 9 F1 TR D1 99 i

1.$dd A, B3R C

2. %dd A, B. D 3RE

3.$dd D 3R E

4. HddB.C.DIRE

Question Number : 115 Question Id : 3421233944 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are TRUE as per Functionalist Perspective on Sociology of
Education?

A. The major function of education is the transmission of society's norms and values.

B. School serves a function that cannot be provided either by family or peers.

C. School is a focal socializing agency.

D. Educational system 1s a part of superstructure and reproduces ruling ideology.

E. Mass education began in industrial society and is an established requirement of an industrial
society.

Choose the correct answer from the options given below:

1. C, D and E only

t2

. A, Cand D only
3.B,C,DandE only

4. A, B, C and E only

Question Number : 115 Question Id : 3421233944 Question Type : MCQ Option Shuffling : No
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T

fR1&T — USRI WR b ddic] uRued & $HuR Hafafad 0 4 oH 9 U 9a g2

A. T2 &1 =1 UST HS & AFGUS| 3R Yol Sl ORI g |

B. Ihd Uh UHH & [ Hd1 ¢ Sl GRAR 31T {77 — gl gRT 3UcTs gl drAl Sl
G|

C. ¥l Udh G YHTSIIH0] H&IT ¢ |

D. TR1&T YoTTell Ueb HIfeERd-1 &1 YT € 3R ATHH Y [daRYRT BT JA%diG &l gl

E. aﬁﬁmaﬂ%mmaﬁ%ﬂﬁﬁwﬁgaﬂ 3R Tg I GHS DI Ua RIUd
Dl |

[

+id fGu T fas el § 9 @8t 3R &1 994 Sifeu:
|. Pad C.D3IRE

2. Had A, C IR D
3. hdd B, C.D 3R E
4. Hdd A B.C 3RE

Question Number : 116 Question Id : 3421233945 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Pick the INCORRECT match:

A. Education and Schooling are ideological state apparatuses - Althusser

B. Education is for Cultural and Social Reproduction - Bourdieu

C. School is a miniature society - Parsons

D. Education helps the individual to grow and achieve her potentials - Marx

E. Education for democracy is thus education freed from the authoritarian relationships -

Dewey
Choose the correct answer from the options given below:

1. Aonly

2. D only

3. B and C only

4. C and E only

Question Number : 116 Question Id : 3421233945 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action

99/133



8/23/24, 6:26 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

Teld gl &l Ugd -

A. 21817 3R TR AIDR0T AT & [TIRYURT & JUIRUIE - AARR

B. & givpidd 3R GErsid gHedied & fau g - digy.

c. 181 U oY 911 § - Uy

D. e afdd & gfg 2R 3BT WUTG131 Dl UIftd & Geradl Bl g - Al
E. didhdd & [T &1 9 UbR UYddIc! Sl § God DRls e 281 - Sidl

- fqu ¢ fgdett H# 4 FoT IR &l 99 DI
1. hdd A
2. $HId D
3. $HadB 3R C
4. Hdd C 3R E

Question Number : 117 Question Id : 3421233946 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are TRUE for Signalling Theory of Economics of Education?

A. Michael Spence is one of the theorist.

B. Individuals have different levels of innate productivity.

C. Education helps to enhance the innate levels of productivity.
D. Education helps to identify different levels of productivity
E. More years of schooling lead to more productivity.

Choose the correct answer from the options given below:

l1.A. BandD only

b2

. C and E only
3.B,C,DandE only

4. A, B, Cand D only

Question Number : 117 Question Id : 3421233946 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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218 & IR & Ry feit e & fore FefeRad # 1 &1F 9 $Y4 94 g2

A H36Hd WY GeRI § U TS g

B. Aidl H S SdGhdl & (HT TR Ed ¢ |

C. T21& IAGHdl & S Wi & Ja4- # Tead Sl o
D. fR1e IdGHdl & 9 TWRI & fafed H H Ye™di Hdl ¢
E. Spclldv] & 3 a9 {4 IdAGhdI i 3R d H1d g

- fqu ¢ fgdett H# 4 FoT IR &l 99 DI
1.$Hdd A, B AR D
2. %9 C AR E
3.$ad B, C.D 3R E
4. PHAd A, B, C 3R D

Question Number : 118 Question Id : 3421233947 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify those which best represent the benefits of implementing six-sigma in teacher education?

A. Improved teacher effectiveness.

B. Enhanced student-learning outcomes.

C. Increased Administrative work load.

D. More efficient use of Resources.

E. Greater standardization of teaching practices.

Choose the correct answer from the options given below:

1. A, C,BandE only

b2

. A, B and E only
3.A.Band D only

4. A, C,DandE only

Question Number : 118 Question Id : 3421233947 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3D Ggd & ol HAYS — fUem 7 [ — 1 S a6 & il Hl Gaag =9 9
3 B g2

A. dgaR 18 gHaRiiedr

B. Uaieid faemaf — siferms gRomy

C. 961 31 YRS HE-UR

D. Y14 BT 3T DRIl TIIT

E. 30 HIGRI BI gtk HHDIDHRU]

- feu e faseut # ¥ #T IR &1 99 DI
1. Hhad A, C,B 3R E
2. had A, B 3ARE
3.$Hdd A, B3R D
4. DA A, C. D 3RE

Question Number : 119 Question Id : 3421233948 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the impact of C.K. Prahlad's theory on curriculum design in teacher education:

A. Enhancing value through innovative curriculum elements.

B. Aligning curriculum with the long-term goals of Educational Institution.
C. Focusing on high-income student populations to maximize returns.

D. Integrating core competencies into curriculum development.

E. Addressing the needs of underserved student groups within the curriculum.

Choose the correct answer from the options given below:

1. A, B, D and E only
2. A, C.D andE only
3.A, B.CandD only

4. A, B, C and E only

Question Number : 119 Question Id : 3421233948 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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S 218 o ursa=d fS9ed Wl &, Ugle & RS & THd &l ggdiH &
A, ST UTeTEl dal & AT U e Hasd

Question Number : 120 Question Id : 3421233949 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the challenges involved in in service teacher education programme:

A. Resistance to change

B. High motivation among teachers
C. Insufficient time allocation

D. Strong institutional support

E. Lack of Resources

Choose the cerrect answer from the options given below:

1. A, C and E only
2. A.Band E only
3.A, Cand D only

4. A. B and D only

Question Number : 120 Question Id : 3421233949 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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YaRd eaae g drdddl O Qe Aol o ugdH &

A, URGdA T UfcRIY

B. 3UH| b HE I ATHURN
C. UG IHY 3ATded

D. T URMHS gAT

E. Y1¢H] &1 341

I QU U fqdhedl § ¥ a7 IR I 99 BIIT;
1. pad A, C AR E

2. had A, B3R E
3.%dd A, C AR D
4. Had A, B3R D

Question Number : 121 Question Id : 3421233950 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of these accurately reflect the limitations of cost benefit analysis in education?

A. Difficulty in quantifyving non-monetary benefits.
B. Short-term focus on costs.

C. Overemphasis on quantitative data.

D. Inclusion in intangible cost.

E. Lack of consideration for long-term outcomes.

Choose the cerrect answer from the options given below:

l.A. B andE only
2. A.Dand E only
3. A, CandE only

4. A. B and D only

Question Number : 121 Question Id : 3421233950 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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%ﬁaﬁﬁaﬁqﬁﬁmﬁw_muﬁﬁﬂmaﬂmﬁﬁmwﬁmm

A. MHITSH AIHI & URAE H BisArs

B. ARTAl UR 3c9-PHIfcid Bl

C. AATHS S1e1 IR 3= 9d ol

D. 3y dNTd H GHGRH

E. ¢ rafaf€ia Rl & fo1u faarRiiedr &1 3y|

A fau U fasedl # 9 ¥8T 3R &1 994 Dol
1. Had A, B3R E

2. HddA. D3R E
3. Hdd A, C 3R E
4. Hdd A. B 3R D

Question Number : 122 Question Id : 3421233951 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Paideia Proposal by Mortimer Adler involves:

A. Providing all children with the same quality of schooling.

B. A school curriculum that is primarily liberal and humanistic.

C. Having different objectives for different students.

D. The curriculum consisting of only one kind of learning.

E. Remedial and compensatory interventions for individual differences.

Choose the correct answer from the options given below:

1.B. C and E only
2.B. C and D only
3.A.Band D only

4. A. B and E only

Question Number : 122 Question Id : 3421233951 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AICHR TSR & gRI1 UfSyr Ukdrd # giFferd o

A. Gt S=1 &I gl fRI&m &t T T0ral Sucs BRIl
B. Udh W d Ulaa<d! ofl UT4fHd ¥4 U 36R SR AFGdG ¢
c. fir fqenidat & fefu fird Ie=a gHl

D. Gréaddi H dhdd Uh UHR DI ST gHl

E. TG HAHE! o [e7U SURRTHS 3R SRS gey

- fqu ¢ fgdett H# 4 FoT IR &l 99 DI
1. $dd B, C AR E
2. $HIdB, C AR D
3. $had A, B3R D
4. Pad A, B 3ARE

Question Number : 123 Question Id : 3421233952 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are TRUE?

A. Medical Model of disabilities find its base in psychology.

B. Human Rights Model of disabilities talks about equity.

C. Charity Model of disabilities treats people with disabilities as incapable.
D. Economic model of disabilities considers disabilities as burden.

E. Religions model of disabilities relates disabilities with God's Wrath.

Choose the cerrect answer from the options given below:

l.A.BandD only

]

.B, C and D only
3.B, C and E only

4. C. D and E only

Question Number : 123 Question Id : 3421233952 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fFafRad # U HH U By Id g2

A. HiSHd Argd ATH feUfaierds &1 MR J4ida= H 5
B. 80U YT AlSd P fSUfafcdis 9udl &1 §1d Hdr g
c. I Algd 31 fSUfaferds [ad it safdddl &1 &M & ¥4 H Fdgd Bdl o
D. 3hHIHG Aled h fSUfaicdisT siemdis &1 913 & ¥4 4 AR o
E. Relfoay Aisd 31w fSUiafcds Siedrsi ol 4R & HIY Y SrSdl g
i fu U fad el § 9 @81 IR &l 994 Diflu;
1. $dd A, B3R D
2. H9d B, C R D
3. Had B. C AR E

4.Had C.D 3R E

Question Number : 124 Question Id : 3421233953 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What leads to curriculum change?

A. National priorities

B. Placement in jobs

C. Socio-cultural contexts

D. Availability of effective teachers
E. Ideology of the government

Choose the cerrect answer from the options given below:

1.B, C and E only

]

.B, C and D only
3. A, CandE only

4. A. B and E only

Question Number : 124 Question Id : 3421233953 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Uréa9d] URadd &1 AR 1 o SI1dl 52
A. BT TS ATY
B. Al RTl H RUH
C. HHTSTd — gk dd ey
D. UHTE! AID! BT Iueiedl
E. IROR DI [dIRYRT
4 f6u U f[dsedl § 9 ¥gT IR &1 994 DifoiT:
. $HddB. C 3R E
2. Hdd B. C 3R D
3. Hdd A, C 3RE

4. Had A, B3R E

Question Number : 125 Question Id : 3421233954 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following have direct relevance for inclusive education?

. UNCRPD

. Project on Integrated Education for the Disabled (PIED)
. NEP 2020

. NPE, 1986

. Universal Design for Learning

MmN @ e

Choose the correct answer from the options given below:

1. A.Band C only
2. A.CandE only
3.A.Band D only

4. A, D and E only

Question Number : 125 Question Id : 3421233954 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fAafeRad # U fhad] Tl fRen 7 ude urkied g2

A. JUTI3RUTS]

B. UlSlde 3 3C1UcS Uy BR & feude (dissse)
C. T34, 2020

D. U43Ul, 1986

E. giHadd [Somed Bk af

i feu T fahedl § 9 a1 IR B 99 DIIT;
. $Hdd A, B3R C

2. HAdd A, C 3ARE
3. FHddA.B 3R D
4. FIAA. D 3IRE

Question Number : 126 Question Id : 3421233955 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI LISTII
A | External Criticism [. |Pre-Experimental design
B. | The time series design II. | Quasi Experimental design
C. |Internal criticism 1T, | Accuracy or worth of the source
D | The static-group comparison design | IV | Authenticity or genuneness of data

Choose the correct answer from the options given below:

1. A-IV, B-11, C-III, D-I
2. A-IIT, B-1, C-1IV, D-I1
3. A-III, B-1I, C-1V, D-1

4. A-IV, B-1, C-III, D-1II

Question Number : 126 Question Id : 3421233955 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifsy

T I T

A |9TEd T L |gd -9 feemsA

B |qud-— gvfi faume I |3 uifis feeme

C. | Hreiie 1L | Bl Yl Hual grgl

D. |Rfdd - THg ol fEeme- | v | S1eT & Wit dl vl fagedr

A f6u U A edl # U Jot 3R 1 994 HIU;

1. A-IV, B-11, C-1III, D-1

2. A-IIT, B-1, C-1IV, D-I1

3. A-IIT, B-1I1, C-1V, D-1

4. A-IV, B-1, C-III, D-II

Question Number : 127 Question Id : 3421233956 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI LISTII
A | Method of Difference i Assumption of experimental
research

B. |Law of single variable II. ThI_EE.i.T for experimental

i validity
c While 1n{1ﬂ'1_dua_i events cannot be predicted with accuracy. m: | mssimging e RadaniEEm

aggregate events can

D. |Interaction effect of testing IV, | Mill's Canon

Choose the correct answer from the options given below:

1. A-II, B-1, C-IV, D-III

2. AL, B-1, G-IV, D-II

3. A-IV, B-1, C-1II, D-II

4. A-1, B-IV, C-III, D-IT

Question Number : 127 Question Id : 3421233956 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifsy

T T I

A | =R B fafy L qa‘“ iwi e Y

B. |Tdhd R &I IL éma-rﬁu D G2l B

o |79 o Qe Tl @1 Y] & I Higwmardi TR S s ued, | | SRS o
| o geIe B @S Ul 6 :

D. |Oi&m @1 id:fear uHE v | e

i feu U fadh el § 9 T8T SR &1 I8 DIfIT:
I. A-IL B-I, C-IV, D-III
2. AJIL BI, C-IV, D-II
3. A1V, B, CIIL D-II

4. A-1, B-IV, C-III, D-IT

Question Number : 128 Question Id : 3421233957 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI LISTII
Taxonomy of Educational Objectives: The classification of Educational )

A Goals, Handbook I: Cognitive Domain e i
B Taxonomy of Educational objectives: The classification of Educational 1 Anderson &

" | Goals Handbook IT: Affective Domain | Krathwohl
C. |Developing and Writing Behavioural Objectives ITI. | Bloom et al.
D A Taxonomy for Learning, Teaching and Assessing: A Revision of IV | Dave

" | Bloom's Taxonomy of Educational Objectives ' h

Choose the correct answer from the options given below:

1. A-IV, B-11, C-III, D-1

t2

. A-III, B-1, C-IV, D-II
3. A-III, B-11, C-1, D-IV

4. A-IL, B-1, C-IV, D-III
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Question Number : 128 Question Id : 3421233957 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT 1D 1Y G 11 D1 THAH Pifore

qE I el 1

SHRIAMT HP T Hleeiideod: § Fanaihd R 3E TohHd
A | 2 Bt L |shTydig Te. 3.
g | S RS SHlooideod: € b dI o6 TaeHa | o | TSEH IR
* |7Tic, SUSE® 11 - 3hided SiHA " |wEE
C. | St Tus M g R sifedifdecs: IIL. | &H Be. 3
D, |3 SR R A, SR qus ST - o Rdfie it s N
© | ZEEE 3 TR Hisslideod :

1< 3T U [qehedl § U T IR 1 99 DIIL;
I. ATV, B-IL, C-IIL D-I
2. A-IIL B-I, C-IV, D-II
3. AL B-L, C-1, D-IV

4. A-II, B-L, C-IV, D-IIT

Question Number : 129 Question Id : 3421233958 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LISTII

A | Classical Conditioning | I. | The response is made first, then reinforcement follows

When learners have difficulty with new material, go back to the

B: | Opeeant Condibanmg, | 1L concrete anchors (Advance organizers)

C. |Discovery Learning III. | A stimulus 1s presented in order to get a response
D Meaningful Verbal v Anvbody can learn anything at any age, provided it is stated in terms
" [Learning " | they can understand

Choose the correct answer from the options given below:
1. A-II, B-TV, C-1. D-III
2. A-I, B-III, C-IV, D-TI
3. A-1, B-II, C-III, D-1IV

4. A-III, B-1, C-IV, D-II
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Question Number : 129 Question Id : 3421233958 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT 1S 1Y &I 11 DT e BHifoy

T 1 e 11
A |FeTfaed eERH | 1 |Ugd AT Bldl 6, deHl YAdaH sidl &
[ — %aﬁ&@?ﬁmaﬁﬁﬁqﬁwﬁmﬁ?ﬁ%ﬁm@Rﬁ$w
C. @ i 1L | 3fsHa1 B U @3 & 68 H Se U &f Jufeyd fdar <iidl 8
o [T e v | PR ot foodl ot o # g ol g Faoell €, 991 99 39 TR
© | e " | @el 91 oad [T oY 6 d 9 9

A fGu U 9 edl §  To1 IR 1 999 BIIT;

1

I

.A-IL B-IV, C-L, D-IIT

-A-I, B-III, C-IV, D-II

. A-1, B-II, C-II1, D-1IV

. A-III, B-1, C-IV, D-II

Question Number : 130 Question Id : 3421233959 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

1ISTI LISTII
A | Web conferencing I | Asynchronous Interaction
. As a learning and assessment tool, it mav comprise artifacts and also
B. |Formative Assessment | IL 5 : . : -’
expresses a reflectrve dimension
B DLglta.lzzed G IIT. | Synchronous Interaction
Materials &
D. |e-Portfolios IV, | Typically conducted during the development of a programme

Choose the correct answer from the options given below:

1

(B

4

https://g28.digialm.com/CAE/viewHtmIPDFAction.action

CA-IIL B-IV, C-1, D-II

. A-II, B-III, C-IV, D-I

.A-L, B-IL, C-II1, D-1IV

- A-IIL B-TV, C-I1, D-I
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Question Number : 130 Question Id : 3421233959 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT 1S 1Y &I 11 DT e BHifoy

A1 T 11
A |dE BRI 1. |[Gurma® sfd:fea
HEFTH 3R ATEHTH U & &0 H, SH geddiaa! aifed gl
B. [XETeI® D | L | ¥ o 0 famle 2101 &) odd &2 9l 2|
(: Wﬁi;asig:a 1. | ge&Iieids 3id: il
D. |3-Uidwifem IV. | HIERUMH, Ueh U & fadi8d &3 & Gk s9deR H |l 9idl §

A fGu U 9 edl §  To1 IR 1 999 BIIT;

1. A-TIT, B-IV, C-1, D-II

2. A-II. B-IIL, C-IV, D-1

3. A-L, B-II, C-III, D-IV

4. A-111, B-1V, C-II, D-1

Question Number : 131 Question Id : 3421233960 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LIST 1

LIST I1

Linear Programming [ | Wrong response also helps in diagnosis of weaknesses of the learner

Branching Programming | I | Science of control and communication

Mathetics Programming | III. | Based on operant conditioning learning theory

ola|w|x

Cvbernatics

IV. | Based on connectionist theorv of learning

Choose the correct answer from the options given below:

1. A-III, B-1, C-IV, D-II

b2

. A-1, B-III, C-II, D-IV

3. A-III, B-1I, C-1V, D-1

4. A-1IV, B-111, C-1, D-II
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Question Number : 131 Question Id : 3421233960 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT 1D 1Y G 11 D1 THAH Pifore

T 1

gt I

A | fymn | 1L |TTad wialear o dieHard & el @ 9edH &3 el aidl &
B | ¥y fieed | 1L | A SR Ouev @ faw

c. |Bufeqs Hfimpm | W | Sfma s ot & fera o s

D. [gEaEle | v | St & YaGdad! G W e

A f6u U A edl § U Jot IR 1 I999 HIIU;

1

B

-A-IIL B-1, C-IV, D-1I

. A-I, B-III, C-II, D-IV

. A-IIL B-11, C-1IV, D-1I

4. A-IV, B-111, C-1, D-II

Question Number : 132 Question Id : 3421233961 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LIST1 LIST II
A | Existentialism I | Reality 15 ultimately mental
B. |Idealism II. | Education as a means of proletariat emancipation
C. | Critical Thinking | IIT. | Essence preceedes in natural world
D. | Marxism IV. | All education is concerned with reason and logic

Choose the correct answer from the options given below:

1. A-IIT, B-IV, C-I, D-II

2. A-I1, B-1V, C-III, D-1

3. A-III, B-1, C-1V, D-I1

4. A-II, B-1, C-II1, D-IV

Question Number : 132 Question Id : 3421233961 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

13_::?:1 T 1T

HfeTaarg 1 |gunef sraanTE HEe B

ean 11. | 9deR] & TGaHor & Ty & =0 J e

fopfemrd fifd| 1L |OR Uielas o § gdadi g1

ola|w|r

TG IV. | 99% fR1En b 3R deeiaa d 9e=d ol

- f6u U f[ddedl # U I8t 3R 1 999 HIU;

1. A-IIT, B-1V, C-1, D-II

2. A-II, B-IV, C-III, D-1

3. A-IIT, B-1, C-1V, D-I1

4. A-II, B-1, C-1II1, D-IV

Question Number : 133 Question Id : 3421233962 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI LIST II
A | Hierarchically structured chronologically graded education svstem 1. | De-schooling
B. | Set of learning experiences free of time and space limitations IL. T\on—fo_rmal
Education
C Lifelctng process whereby every individual learns from daily i1 | Bonnat sdication
eXperiences
D. |Education out of the confines of school for diverse neads and interests | IV, | Informal Education

Choose the correct answer from the options given below:

1. A-IIL, B-1, C-II, D-IV

2. A-1IV, B-1I, C-111, D-1

3. AL BIIL C-L D-IV

4. A-II1, B-11, C-1IV, D-1

Question Number : 133 Question Id : 3421233962 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifsy

T 1 et 11
HiUH g T 9 Widd, SrarHie U U widdd al e L |Fidaredieo
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1. A-IL B-I, C-IL, D-IV

ola|w|r

2. A-IV, B-II, C-11I, D-1
3. A-II, B-MII, C-1, D-IV

4. A-III, B-11, C-1IV, D-1

Question Number : 134 Question Id : 3421233963 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI LISTII
A | Functions of school and universities should be different. [. |Kothari Commission
3 Schools should play a crucial role in developing democratic 1 University Education
" | citizenship. * | Commission
C. |Education plays a crucial role in national development. II1. | Yashpal Committee Report
D. |Learning must not be a burden on the learer. IV. S:E Cﬂnd_ﬂfj_." Education
Commission

Choose the correct answer from the options given below:
1. A-IIT, B-II. C-1V, D-I
2. A-IIL B-1, C-1I1, D-IV
3. A-IL B-1. C-IV, D-III

4. A-IL B-1IV, C-1, D-III

Question Number : 134 Question Id : 3421233963 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifsy

T I T 11
A |%pa IR fafaeraat & uer g g T I |®IBR @
g |TIEAIRS ARG & G 3 Wpdl ol Teayyl YFe Hifale | [ |yl R
S I TR
C. |fem g faers 3 Agayui YiHe! o1 (aig i B | 1. | gz gftfa Rard
D. | ¥ &l 1R &9 Tt a1 a1t 1v. |Arenfiye frem smam

i feu U fas et § 9 I8! SR &1 994 DifIT:
I. A-IIL B-IL C-IV, D-I
2. A-IIL B-I, C-IL, D-IV
3. A-IL B-I, C-IV, D-TII

4. A-II, B-1V, C-1, D-III

Question Number : 135 Question Id : 3421233964 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI LISTII
A Cantexinal I. |Including various concepts of Education and Learning
competency

Conceptual . ) ) ) .
B. P II. | As regarded general, subject-wise, state-wise, dimmensions

competency
C Evaluation 1 Comprising a wider view of the development of education in society
" | competency " | and teacher's role in it

Transactional
D.

IV, | Preparation, selection and use of tools and tests
competency

Choose the correct answer from the options given below:
1. A-IIT, B-IV. C-II, D-I
2. A-IIL B-1, C-IV, D-II
3. A-IIL B-IL. C-L, D-IV
4. A-III, B-1, C-IL, D-IV

Question Number : 135 Question Id : 3421233964 Question Type : MCQ Option Shuffling : No
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Question Number : 136 Question Id : 3421233965 Question Type : MCQ Option Shuffling : No

. A-IIT, B-IV, C-I1, D-I

- A-IIL B-1, C-IV, D-II

. A-IIL, B-IL, C-1, D-IV

. A-III, B-1, C-I1, D-IV

Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LISTII
A | Pre-Scientific Management Era| 1. |Fredenik W. Taylor
B | Classical Management Era IT. | George Elton Mayo
C. [Neo-Classical Era III. |Ernest Dale
D. | Modern Management Era IV. | Charles Babbage and Robert Oven

Choose the correct answer from the options given below:

|

]

Question Number : 136 Question Id : 3421233965 Question Type : MCQ Option Shuffling : No

-A-L, B-III, C-IV, D-II
. A-IV, B-1, C-II, D-III
. A-II, B-1, C-III, D-IV

-A-I B-1I, C-IV, D-III

Correct Marks : 2 Wrong Marks : 0
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1. A-1, B-III, C-IV, D-II

ola|w|r

2. A-IV, B-1, C-II, D-III
3. A-IL B-I, C-IL, D-IV

4. A-1, B-II, C-1IV, D-IIT

Question Number : 137 Question Id : 3421233966 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI LISTII
Permissive style I. | The 9.9 Managerial Styvle
Most desirable leadership behaviour II. | Scientific Management

Replacement of old rules to thumb method | III. | Laissez Faire

ola|w|

Principle of span of control IV, |Ian Hamilton

Choose the correct answer from the options given below:
1. A-IIL, B-1, C-1I, D-IV
2. A-1, B-I, C-III, D-IV
3. A-IV, B-III, C-II, D-I

4. A-II1, B-1, C-1II, D-IV

Question Number : 137 Question Id : 3421233966 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

1 e 11
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AT feu U faded! § U I8t 3R &l 994 DIl
1. A-IIL B-1, C-IL, D-IV
2. A-L, B-II, C-III, D-IV
3. A-IV, B-1II, C-II, D-1

4. A-1II, B-1, C-11, D-IV

Question Number : 138 Question Id : 3421233967 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LIST II
A | Children with Learing Disabilities 1. | Associated speech problems

B. | Children with hearing Impairment II. | Braille
C. | Children with Intellectual Disabilities | III. | Achievement Potential Discrepancy

-

Question Number : 138 Question Id : 3421233967 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A | SE-EHAT AT = | L | efed arp-eed
B. |4qul- d1ied s 1L |&d

C. |Sf&® famarard &= | 1L | Iuafe — &man srnfa
D. | - Siftd o= v |gfe-afsr

1< fGU U [qhedl § U T IR &1 994 DI
I. A-I, B-IIL, C-IV, D-II
2. A-IIL, B-IV, C-IL, D-I
3. A-IV, B-II, C-IIL, D-I

4. A-III, B-1, C-IV, D-II

Question Number : 139 Question Id : 3421233968 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LIST1I LISTII
A | Type of curriculum change [ |Systems
B. |Factor affecting curriculum change | I1I. | Perturbations
C. | Approach to curriculum change III. | Learning communities
D. | Strategy for curriculum change IV, | Aspirations of people

Choose the correct answer from the options given below:
1. A-IL B-IV, C-1, D-III
2. A-L, B-II, C-IV, D-III
3. A-IV. B-IIL, C-I1, D-I

4. A, B-11, C-1, D-1IV

Question Number : 139 Question Id : 3421233968 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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C. |ureu=dl uRad 1 JUrTH 1L | AT §qem
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1< fGU U [qhedl § U T IR &1 994 DI
I. AL B-IV, C-L, D-III
2. A-1, B-1II, C-IV, D-TII
3. A-IV, B-III, C-IL, D-I

4. A-III, B-11, C-1, D-IV

Question Number : 140 Question Id : 3421233969 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI LISTII
A | Outcome-based Integrative Model| 1. | Evaluating quality of education at school
B. |CIPP Model II. | Systematic and Comprehensive evaluation
C. | Scriven's Model III. | Clear learning Qutcomes
D. | Tvler's Model IV. | Objectrve Four-step process

Choose the correct answer from the options given below:
1. A-I. B-II, C-III, D-IV
2. A-I, B-III, C-IV, D-II
3.A-IV. B-1, C-II, D-III

4. A-II1, B-1, C-II, D-IV

Question Number : 140 Question Id : 3421233969 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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T 1 (@Ts) T 1 (fEmrem

A |ufvorg - anufa Tafa diga | 1 |faemed wR W Ren & e &1 geaied $edl &
B. |Hamsdidt ataa 11 |HEG R A0d HedihH

C. |Shidd disd 111 =y e giome
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1< fGU U [qhedl § U T IR &1 994 DI
I. A-I B-IL C-IIL, D-IV
2. A-1, B-III, C-IV, D-II
3. A-IV, B-1, C-IL, D-III

4. A-1II, B-1, C-11, D-IV

Sub-Section Number : 2
Sub-Section Id : 342123159
Question Shuffling Allowed : No

Question Id : 3421233970 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension

Freedom does not exist without order. The two go together. If vou cannot have order, you cannot
have freedom. The two are inseparable. If vou say: *I will do what I like. I will turn up for my
meals when I like: I will come to the class when I like” — vou create disorder. You have to take
into consideration what other people want. To run things smoothly, you have to come on time. If I
had come ten minutes late this morning, I would have kept yvou waiting. So I have to have
consideration. I have to think of others. I have to be polite, considerate. be concerned about other
people. Out of that consideration, out of that thoughtfulness, out of that watchfulness, both
outward and inward, comes order and with that order there comes freedom.

You know, soldiers all over the world are drilled every day, they are told what to do. to walk in
line. They obey orders implicitly without thinking. Do you know what that does to man? When
you are told what to do, what to think, to obey, to follow, do you know what it does to you? Your
mind becomes dull, it loses its initiative, its quickness. This external, outward imposition of
discipline makes the mind stupid. it makes you conform. it makes you imitate. But if you
discipline yourself by watching, listening, being considerate, being very thoughtful — out of that
watchfulness. that listening, that consideration for others. comes order. Where there is order, there
1s always freedom. If you are shouting, talking. you cannot hear what others have to say. You can
only hear clearly when you sit quietly, when you give your attention.

Sub questions

Question Number : 141 Question Id : 3421233971 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

Being on time, punctuality brings:

1. Discipline

t2

. Inward Imposition
3. Order

4. Conformity

Question Number : 142 Question Id : 3421233972 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If a teacher wants her students to obey orders without thinking, she is making her students :

1. Rationalists

t2

. Conformists
3. Progressives
4. Authoritarian

Question Number : 143 Question Id : 3421233973 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to the given paragraph, Freedom without order is:

. Invaluable

t-2

. Indiscipline
3. Invalid
4. Non-existent

Question Number : 144 Question Id : 3421233974 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A teacher shouts, “Pindrop Silence in the Class’. She is:

1. Making her students considerate of orders

t2

. Making the students thoughtful and watchful
3. Making outward imposition of discipline

4. Making order in the class to make her students free

Question Number : 145 Question Id : 3421233975 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Conformism and imitation are the learning outcomes of the pedagogy that believes in:

1. External Discipline

(]

. Internal Discipline
3. Freedom of Learners

4. Individual Difference

Question Id : 3421233970 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 126/133



8/23/24, 6:26 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

Ad-ddl DI &1 Fa™Y1 & Dl 3&id Tl gidll Fi U 1Y gid g1 gic 3Udh U1y Ha®]
g1 g1 Ybal, dl 3T U Wl-ddl -gl 8l Ybal| ST SMfdUsT g1 TG 31 degd ¢: «H dl
ST ofl 92 9= ¢ 1 T 3104 Yioid & Tl SR ofd U1 04 3Tl T Sl § 3137 §d 3
Y=g T — 31T 3{a®] Gedld g1 30! dg [ddrR § o1 g fdb 3 olvT i1 digd & |
94 $F Ydre U U 9o & [QI8, 39D G W {H1 g1 A% 3T gag # oy e o ¥
37T BT, T U] UileiRd 341 gidnl 31d: H3 faaReiia 89 @1 81 99 ol & fava
i1 81 g3 f99y, faaReid 81 8, = arll & {9y o f&idr &% g1 39 fadr &
ORUMEEY, 39 [qaRYuidl & IRUMEEEY, 39 H4H] & GRUMEGEY, 962 3R HidR
I, AR STl § 3R 3 AT & UIY Wd-dl 31l g |

3T S & T g & ! ot ufafed dame a8 Sidt 2, 3¢ T g & st 9
gfafed Sarde HRIe Sl g, 3¢ 9aidl Sl ¢ fd &1 &A1 8, BdR H Ia-1 ¢ d Hifgd &g
Y T G SIS BT UTe Hd & | 947 3MS! I8 IdT ¢ & 98 78 & 91y o1 Il g2 oid
30| ST SIIdl g D] R ST 8. H1 i1 5. T 1R HHAT 8, 1 R DAl 8,
&1 AUPH] Ul g I8 U Iy &l Bl g2 U] AKX A< gl SIdl ¢, g U+l Ugd,
U AR bl @I &l g1 3R &1 gg d1el, Sl R Afkdsh &l g<di< o]
&dl 8. U8 U HIUTeld DA drll &1 &dl 8. g U] HIH0 B drdl &1 i 3|
€ — 39 TaUF, 39 G, 39 gkl & [aU f[daR, & URUME=1 s0q®y1 31l 31 dgi ol
AR T, YT B Wddl g | afc 314 g I €. 91d B G 8. 31U YA A1 Tebd oIl 34 &l
aw‘ra%m?mmqmww@aa@ﬂ Hhd g 9d 31U AM~IYdd d6d g, o 30 34 W
M Gd ol

Sub questions

Question Number : 141 Question Id : 3421233971 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HHY U gl JHY Ulel oidl %:

1. FRINH
2. 3=dddl R0

3. g8
4. SAUlclH

Question Number : 142 Question Id : 3421233972 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3. YTt
4. GaMEre]

Question Number : 143 Question Id : 3421233973 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fEU U 3w & AIUR, o1 a1 & Wd-dl ¢;
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TR

3. 3{dY
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Question Number : 144 Question Id : 3421233974 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U &1 e feerdi 8, <dean | yuf wifar | 98
1. 39+ faemfaal &l 3 i & Ufd faaReia s IEl ¢
. 3UH fqenidal o fagRyul 3R Hide= sH1 8l gl
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L

Question Number : 145 Question Id : 3421233975 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Sub-Section Number : 3
Sub-Section Id : 342123160
Question Shuffling Allowed : No

Question Id : 3421233976 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension

Inclusive education means that all people — regardless of their gender, religion, cultural and social
origin, cognitive, physical and psychological preconditions — are entitled to equal access to higher
education., and that existing entry barriers have to be removed. This broad understanding of
inclusive education is fixed to the Curriculum Framework as a cross-cutting theme.

As a pedagogical approach with the essential principle of appreciation and acknowledgement of
diversity, the scientific foundation and acceptance of inclusive education has increased since the
1990s. At school it i1s about “the appropriate non-hierarchical and democratic response to the
existing heterogeneity of students™ (see Boban: Hinz. 2003: Index fur Inklusion).

The implementation of inclusive education i1s one of the big challenges to our education system
and its stakeholders. Institutions of formal and non-formal education and their activities should
be designed in a way that the learning environment adjusts to the students and respects the
individual personalities with their different preconditions. Such an orientation towards the
students requires a high personal commitment but also differentiated material and activating
methods of education which support the individual and at the same time cooperation.

Sub questions

Question Number : 146 Question Id : 3421233977 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Inclusive education mainly focuses on education of:

1. Children with disabilities

I

. Children with challenging behaviours
3. Children with learning difficulties

4. All children
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Question Number : 147 Question Id : 3421233978 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Inclusive education is a pedagogical approach having a principle of :

1. Acceptance of learning difficulties only

I

. Appreciation of diversity
3. Acceptance of group dynamics

4. Appreciation of singularity

Question Number : 148 Question Id : 3421233979 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Inclusive education:

1. Negates cultural diversity

f-2

. Celebrates teacher's authority
3. Celebrates heterogeneity of students

4. Negates social needs

Question Number : 149 Question Id : 3421233980 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

It is necessary for these institutions to be inclusive :

1. Institutions of formal education only

f-2

. Institutions of informal education only
3. both the institutions of formal and informal education

4. Institutions of non-formal education only

Question Number : 150 Question Id : 3421233981 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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In inclusive education. an orientation towards the students requires:

1. A high personal commitment only

t2

. Non-differentiated materials.
3. Passive methods of education

4. High personal commitment along with differential material

Question Id : 3421233976 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension
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Correct Marks : 2 Wrong Marks : 0
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Question Number : 147 Question Id : 3421233978 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 148 Question Id : 3421233979 Question Type : MCQ Option Shuffling : No
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Question Number : 149 Question Id : 3421233980 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 150 Question Id : 3421233981 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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